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C 2.41 NORWAY

C 2.5 NORWAY
(G
(G

s

C 2.61 NORWAY

C 2.71 NORWAY

C 2. 81 NORWAY
(O
— XX

s $ 2, 400.00,
$2,
$2,
, $ 2, 400.00,
$2,
$2,
, $ 2, 400.00,
$2,
$2,

$3, 600.00 .
$3,
$ 3,
, $ 3, 600.00,

$37
$3’

400.
400.

400.
400.

400.
400.

600.
600.

800.
600.
200.

00
00

00
00

00
00

00
00

00
00
00

$ 14, 200. 00, s $ 800. 00,

$ 200. 00,

$ 15, 000.00
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$ 14, 200.00
800. 00
(2
X X $ 200. 00
$ 200. 00

C 2.97 NORWAY $ 3, 750.00 \

$ 3, 750.00

: $3, 750.00

C 2.10) NORWAY $ 800, 00, . :
$ 800. 00
$ 800. 00

’ ’ ’ °

C 2.11J NORWAY N 6% $ 6, 000.00 .
, 8% ,
$6,000. 00

6 1. ,
($6,OOO.OO><100><12)— $ 30. 00

$ 6.030. 00
6

E($6,ooo.oo><(1+100

3. .
Xp))= $ 6.090. 00

: 8 2 .
($6,o9o.oo><100><12)—81.20 $ 6,008. 80

$ 21. 20

$30.00
$ 30. 00
$6,008. 80
$21.20
$6,000. 00
$30. 00

. o b b 80% ’

: 6, 090.00 ( ) X20% ( ) =$1, 218.00
$4, 790.80
$1. 218.00
$21. 20
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( )
4
[@D)
s ( ) s
(2)
$ 6, 000. 00, $ 200. 00
— X X
. (Accounts Receivable)
( )
(Accrued Receivable),
1' ’
2
[@D) s s

$6’

$1,
$ 100,
$6.
$94,

NORWAY

$6,
$6.
$6.
$6.

000. 00
$ 30. 00

218. 00
000. 00
000. 00
000. 00

$ X X
$ X X

000. 00
000. 00
290. 00
290. 00

$ X XX
$ X XX
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A. (Aging Method)
C 2.12] NORWAY $ 24, 800.00,
NORWAY
30 30 60 90
~60 ~90
$ 1, 000.00 $500. 00 $ 800. 00 $ 400. 00
$ 4, 000.000 $7, 000.0 $ 1, 000.00 2, 000. 00
$ 5, 000.00 $2, 500.0 $ 600. 00
$10, 000.00 $9, 500.0 $1, 500.000 $3, 400.00 $ 400. 00
30 1%
30~60 2%
60~90 4%
90 20%
30 $9, 500X1%=$95.00
30~60 $1, 500X2%=$ 30.00
60~90 $3, 400X4% = $136.00
90 $ 400X 20% = $ 80. 00
$ 341. 00
B.
a.
C 2.133 NORWAY $ 23, 800. 00, $8, 700

($23, 800— $8, 700.00) X5%=$755.00

b.

’

)?

5%9
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$ X X X
$ X X X

a.
$ X X X
$ X X X
b.
$ X X X
$ X X X
C.
$ X X X
$ X X X
d.
$ X X X
: $ X X X
®
o .,
b . o
A.
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C 2.141 NORWAY , $ 20, 000.00,
$ 18, 700. 00, $ 360, 000. 00, 5% : $360, 000.00
X5%=$18, 000.00

’

$ 20, 000.00— $18, 700.00=$1, 300.00

$ 18, 700.00,

$ 18, 700.00
$ 18, 700.00
$1, 300.00
$ 1. 300.00
$ 18, 000.00
$ 18, 000.00

$18,700. 00 $20,000. 00

1,300. 00 18,000. 00

B.
, NORWAY $ 18, 000. 00,
$ 1, 300.00, $ 16, 700.00,
$16, 700.00
$16, 700.00
, $ 18, 000.00, “ 7 $ 16, 700.00,
$1, 300.00, $1, 300.00,

$18,700. 00 $20,000. 00

16,700. 00

$ 18, 000.00, $ 360, 000.00 5%,

(2)
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C 2.151  NORWAY 89 $ 60, 000. 00 ,
60% .

$ 60, 000.00X10%=$6, 000.00

$6, 000.00X60%=%$3, 6000.00

@

90 s

89 s

6, 000.00

o s

(Short—Term Investment) (Temporary Investment)

)

1. °
C 2.16] NORWAY 8 7 1 68 YL
100 100 o 200
68. 00X100 =

$ 100. 00X 100 XG%X%:SO0.00

89/7/1

10%

$6.
$6,
$3,
$3,

$6.
$6,
$3.
$3,

$6’
$ 54,

$6v

$79

$ 300.

$6’

$6’

000.
000.
600.
600.

000.
000.
600.
600.

000.
000.

800.
200.
000.

700.

700.
300.

00
00
00
00

00
00
00
00

00
00

00
00
00

00

00

00
00
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: $ 7, 000.00
89/12/31 , $100. 00X 100  X6%=$600.00
$ 600. 00
$ 300. 00
300. 00
$300.00, 89 1 1 6 31 ., NORWAY
, . NORWAY . ,
2.
(1
C 2.173  NORWAY YL 500 $ 100, $50, 000.00, $101
$ 50, 500.00 ( Do ) . 875,  $50,
437.50, . . .
YL 5% —
( $50, 437.50) $50, 500.00
(2)
C 2.18) NORWAY 100 $62. 00,
$66. 00,
$ 400. 00
$400. 00
$ 64. 00 ,
$ 6, 400.00
400. 00
$ 6, 200.00
400. 00
200. 00
3
$ X X
X $ XX

C 2.193 NORWAY 1987 2 1 6% 2000
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100 11 1 $ 203, 000. 00, $1, 000.00,

: 11 1

$ 203, 000.00
$1, 000.00
$ 204, 000.00

$3, 000.00 C $200, OOO.OO><6%><1%)

s $ 200, 000.00,
1988 2 1 200, 500, 00
7 , . s 11 1 2 1
NORWAY .
C 2.201 NORWAY 1988 3 1
3 1 , YL 5 1 104
200 102, 4 1 , YL

1988/3/1 YL
$104. 00X 100

$ 10, 000. OOXS%X%

1988/12/31

$ 10, 000. oo><8%><1—82: $533. 33

s $10, 466.67— $102X100= $ 266. 67

8%
100
110

$ 201, 000.00

$ 201,
$3y
$204’

$1y
$]y

“

$ 3, 000.

$ 200,
]7
2’

201,

$10,

000.
000.
000.

000.
000.

00

500.
000.
500.
$3, 00.
000.

100

400.
200.

00
00
00

00
00

00
00
00
00
00

00
00

$10,

$ 10’

600.

133.

466.

00

33

67
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1989/4/1

$10,OOQOOX896XT%::$6&67

1988/3/1
$10, 466.67
133.33
: $10, 60.00
1988/12/31 5/1  12/31
$533. 33
$533. 33

$ 266. 67
: $ 266. 67
1989/3/1
$800. 00
$ 666. 66
$133.34

1988/4/1
$ 11, 000.00
266. 67
$ 10, 466.00
66. 67

> o (Original
Cost of Assets). (Estimated Service Life) . (Scrap) (Arbitrary Interest Rate)

s o

1. (Straight Line Method)



110 . .

= ( 2.1
5
= S X 100% ( 2.2)
1_
= X 100% ( 2.3)
= 12 ( 2.4)
— X ( 2.5)
2. (Working Hour Method)
= — X
( 2.6)
3. (Unit Production Method)
= — X
( 2.7)
C 2. 21 NORWAY B $ 65, 000. 00, 15, 000. 00 ,
$ 5. 000.00, 2, 500.00
( 2.8),
=$65, 000. 00— $ 5, OOO'OOXZ, 500. 00

15, 000. 00
=$10, 000.00
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4. (Fixed Percentage on Declining Balance Method)

’ )

: R ., n
A% .V, n
s
R=1— /v ( 2.9)
C 2.223 NORWAY $ 125, 000. 00 , $ 8, 500.00,
$ 500. 00, 3, .
( 2.9)
3 3 3
. °/$8, 500.00— $500.00 ..,
R=1 \/ $125, 00.00  _00%
60% s
I $125, 000.00X60%=$75, 000.00
I . ($125, 000.00— $75, 000.00) X60%= $30, 000.00

I . ($125, 000.00— $ 75, 000.00— $ 30, 000.00) X60%=$12, 000.00

’ s o

0 $125, 000.00
1 75, 000. 00 75, 000.00 $ 50, 000.00
2 30, 000.00 105, 000. 00 $ 20, 000.00
3 12, 000. 00 117, 000. 00 8, 000.00
s { ) s
, 1.5 o
1
X 100% ( 2.10)
5. (Sum of The—Years’—Digits Method)
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(
\'% . S .t . N s
_ o« 2 (N—t+1)
= (V—=S5) ><7N NTD (
C 2.23]  NORWAY $ 20, 000.00, $ 2, 000.00,
5 9
1 $ 20, 000.00
1 $ 18, 000.00 5/15 $6, 000.00 | $6, 000.00 14, 000.00
2 18, 000. 00 4/15 4, 800.00 10, 800. 00 9, 200.00
3 18, 000. 00 3/15 3, 600.00 14, 400.00 5, 600.00
4 18, 000. 00 2/15 2, 400. 00 16, 800.00 3, 200.00
5 18, 000. 00 1/15 1, 200.00 18, 000. 00 2, 000.00
15 ( ) $ 18, 000.00
6. (Sinking Fund Method)
A= (V—8) (
a4+ —1
A , vV . S . 1 » N o
7. (Annuity Method)
. o
A (Vo5 1 A+ (

(O

A+DY A+DY¥—1

2.1

2.12)

2.13)

2.1
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C 2.24) NORWAY $ 10, 000. 00, $ 2, 000. 00, 20

=($10,000.00— $ 2,000. 00) =20

= $400. 00
— $ 400. 00
— $ 400. 00
$ 400. 00
— $ 400. 00
$ 10, 000.00
— 400. 00 $9, 600.00
C 2.25) NORWAY $ 100, 000.00, 10, 000. 00, .
5%
= ($100, 000.00— $ 10, 000.00
1 0.05 (140.05)"
05005 X T(10.05)—1
=$25, 881.10
. $5, 000.00, $ 20, 881.10, :

— $ 25, 881.10
$5, 000.00
20.881.10

(2)

A.

C 2.26] NORWAY $ 32, 000. 00, 8
$ 2, 000.00, , $ 3, 750.00, $ 15, 000.00,

8 $ 1. 100.00, s
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¢ 5,6, 7,8, 9,10

C 2.271 NORWAY
000. 00, .

’

($100, 000.00— $20, 000.00) =16
( $9, 000.00) — (

= $ 4, 000.00

$4. 000.00X3=$12, 000. 00w+

s

)

$ 100, 000.00,

=$5, 000.00
$5, 000.00)

{

10

$ 32, 000.0
1, 100.00
$ 30, 900.00

_ 15, 000.00

$ 15, 900.00

= 6

$2, 650.00

’ $107

$ 20, 000.00,

$ 12, 000.00,

$ 12, 000.00
$ 12, 000.00

$5, 000.00
$5, 000.00

12,

000. 00

99

000. 00

9,

000. 00

97

000. 00

$27,000. 00,
000. 00, ,
> $ 9, 000.00,

s $27,000. 00— $12,000.00= $ 15,

$5, 000.00, “

$5, 000.00,

’

”
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1.
2.
3.
4.
1.
2.
3. .
s (Good Will)
1- .’
2. . . ,
(@]
C 2. 283 NORWAY . YL . NORWAY $ 40,
000. 00, $ 300, 000.00, 10%,

a. YL ) ’

= $40, 000.00X4=$160, 000. 00++-=-+
b. YL . .

= $ 300, 000.00X10% = $ 30, 000.00

= $40, 000.00— $ 30, 000.00=$ 10, 000.00

= $10, 000.00X6=$60, 000.00

c. YL , $ 30, 000. 00 , ,

$ 10, 000.00 $ 8, 000.00 , ) $ 20, 000.00,
$ 30, 000.00X5+ $8, 000.00X24+ $2, 000.00X1= $168, 000.00
d. YL s $10, 000.00 . $6, 000.00
R s $ 4, 000.00 R R
$6, 000.00X10+ $4, 000.00X4=$76, 000.00

’ °

)
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a. o
b. o
C. o
d. ,
= ( 2.15)
e.
— ( 2.16)
= — ( 2.17)
= — ( 2.18)
C 2.293  NORWAY 1988
$ 45, 000. 00 $ 15, 000.00
75, 000. 00 45, 000. 00
15, 000.00 60, 000.00
15, 000.00
$ 135, 000.00 $ 135, 000.00
NORWAY . . YL . NORWAY
1986 $ 6, 700.00
1987 7, 500.00
1988 7, 400.00
$ 1, 800.00, $ 2, 200.00, $ 6, 000.00,
$9, 000.00, 9%, .

= ($6, 700.00+ $7, 500.00+ $ 7, 400.00) =3
=$7, 200.00

= $45, 000.00— $1, 800.00
= $43, 200.00
=$7, 5000.00+ $ 2, 200.00
=$77, 200.00

$ 120, 400.00

_$7. 200.00
9%

= $80, 000.00

= $120, 400.00— $60, 000.00
= $60, 400.00
= $80, 000.00— $60, 400.00
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= $19, 600.00
=$19, 600.00— $6, 000.00
=$13, 600.00

3.
C 2.30] NORWAY $ 150, 000. 00, $ 50, 000. 00, NOR-
WAY . $ 120, 000.00 .
$120,000. 00— ($ 150,000. 00— $ 50,000. 00)
= $20,000. 00
. (Patent)
C 2.313 NORWAY , ,
17, 13, 5 5 .
$20,000. 00, $4,000. 00,
$20,000. 00
$ 20,000. 00
— $ 4,000. 00
$4,000. 00
s (Leaseholds)
1.
C 2.323  NORWAY YL . . $12,
000. 00, $4,000. 00, $1,000. 00, .
, NORWAY YL .

NORWAY
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iD) $12,000.
— $12,000.
( )
2) $4,000.
$ 4,000.
( )
3) $1,000.
$1,000.
( )
YL
— $12,000.
$12,000.
2.
C 2. 33INORWAY $104. 247. 26 YL .
6 . $20,000. 00, 6%, YL .
.1 :
($104.247. 26— $20.,000. 00) * 6%
=$5,054. 84
I :
$20,000. 000— $ 5,054. 84
= $14,945.16
I :
$104,247.26— $14,945. 16
= $89,302. 10
( )
0 $104,247. 26
1 $20,000. 00 $5.054. 84 $14,945.16 89,302. 10
2 20,000. 00 4,158.13 15,841. 87 73,460. 23
3 20,000. 00 3,207. 62 16,792. 38 56,667. 85
4 20,000. 00 2,200. 07 17,799. 93 38,867. 92
5 20,000. 00 1,132.08 18,867. 92 —
6 20,000. 00 — 20,000. 00
120,000. 00 15,752. 74 104,247. 26

00
00

00
00

00

00

00
00
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$20. 000. 00 s s

> NORWAY YL
NORWAY
I 1/1:

12;31:
I 1/1:
12;31:
ﬁ 1/1:
12;31=
VUL
12;31=
v
12;31:
wou

YL
[ 1/1:

12/31

$207

$84’
20,
$ 104,

$5’
$5’

$ 20,
$ 20,

$4’
$4s

$ 20,
$ 20’

$35
$37

$ 20’
$ 20’

$2,
$2,

$ 20’
$ 20,

$17
$1’

$ 20,
$ 20,

$ 104,
$ 20,
84,

000. 00

o

247.
000.
247.

054.
054.

000.
000.

207.
207.

000.
000.

200.
200.

000.
000.

132.
132.

000.
000.

247.
000.
247.

26
00
26

84
84

00
00

.13
.13

.00
.00

62
62

00
00

07
07

00
00

08
08

00
00

26
00
26
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12/31:

12/31:

12/31:

12/31:

Vi

C
12

)]

1/1:

1/1:

1/1:

1/1:

1/1:

2. 34JNORWAY

s

(Deferred Assets)

$5’
$5s

$ 20,
$ 20’

$4s
$/1,

$ 20’
$ 20’

$37
$37

$ 20’
$ 20,

$27
$2’

$ 20,
$ 20,

$1’
$1’

$ 20,
$ 20,

504.
504.

000.
000.

207.
207.

000.
000.

200.
200.

000.
000.

132.
132.

000.
000.

84
84

00
00

.13
.13

. 00
.00

62
62

00
00

07
07

00
00

08
08

00
00
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1987  10/17
1988  12/31
1987 12/31 s $ 30
1987 .
1987/12/31 $ 30
1987/10/17 $120 | 1987/12/31 $ 30
$ 30 s
$ 90, .
(2) s o
1987  10/17
1987  12/31 s $ 90,
1988  12/31 .
1987 12 .
1987/9/1 $120 | 1987/12/31 $ 90
1987/12/31 $ 90
2.
C 2.35] NORWAY 10 12 $100, 10
. $75, 10 $ 25,

$120
$120

$ 90
$ 90

$ 30
$ 30

$ 30
$ 30

$120
$120

$ 90
$ 90

$ 90
$ 90

10
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s 10 31 s °
10/31
—10
s 10 s
s 10 $ 25,
$ 25, s
C 2.361 NORWAY $1, 800,
$1. 560
$6, 240, o
N (Wasting Assets)
C 2.37] $ 900, 000, 150 s

$ 150, 000 (=0.60X 250, 000),

. (Long—Term Investment)

$25;
$25,

$ 25
$ 25
$75,

$ 7, 800.00
$ 7, 800.00

$ 750, 000,

$1, 560
$1, 560

$1, 560
$1, 560

$0.6,

150, 000
150, 000



123

C 2.38] NORWAY YL

$ 30, 000,
[@D)
YL
YL
(2)
YL
(3)
2.
C 2.397  NORWAY $ 40, 000
$ 30, 000, NORWAY 40%
$ 10, 000, NORWAY
[@D)
—YL
YL 40% .
(2) YL
YL
YL $30, 000 40%
(3)
YL
YL

Y]

$5, 000, NORWAY

20% . YL
$1, 000,

$ 20,
$ 20,

$17
$17
$17

$17
$17

. YL
YL

$ 40,
$ 40,

$12,
$12,

$47
$47

000
000

000
000
000

000
000

000
000

000
000

000
000
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$12, 000
$12, 000
. $ 48, 000, ,
$12, 000,
3. .
50%
( )o *
C 2. 401 NORWAY YL 50% .
NORWAY
1988 12 31
$100, 000 $ 50, 000
—YL 100, 000 500, 000
500, 000 $ 150, 000
$ 700, 000 700, 000
YL
1988 12 31
$ 40, 000 $ 20, 000
100, 000 100, 000
20, 000
$ 140, 000 $ 140, 000
NORWAY—YL
1988 12 31
$ 140, 000 $ 70, 000
600, 000 500, 000
170, 000
$ 740, 000 $ 740, 000
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1.
C 2.41) NORWAY 1987 1 1 YL
$ 100, 000, $ 105, 000, 7 1 |
. 10 $ 500,
000, $ 500 s $2, 500 .
(1) 1987 1 1 .
105 100 YL 6%
1992 1 1 .
@7 1 .
$3, 000 $5, 000 1/10,
5, 000 1/10,
(3) 12 31
$5, 000 1/10,
4) 12 31
12 31 $ 3, 000, ,
. $ 104, 000 . $ 105, 000

’ s s

$ 100, 000,

6%
$5, 000,
$ 3,

$105, 000
$105, 000

$3, 000

$ 500
$ 500

$3, 000
$3, 000

$ 500
$ 500

$5, 000
$5, 000

$1, 000
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C 2.42] NORWAY 1987 YL $ 100, 000, $ 98, 000,

$ 2,000, s $ 200, NORWAY 6%
$3, 000 s s $ 200,

(1) 1987 1 1
$98, 000
$ 98, 000
98 100 YL 6% .
1992 1 1 .
@7 1
$3, 000
$3, 000

$2, 000 1/10,
$ 200
$ 200
$2, 000 1/10,
(3) 12 31
$3, 000
$3, 000

$ 200
$ 200
$2, 000 1/10,
4) 12 31
$6, 400
$6, 400
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= + — _
1.
C 2.43) NORWAY ,
876. 10,

$4,397,559. 35— $4,384,876.10= $12,683. 25

NORWAY

$ 4,384,

$1. 000, 000
200, 000
400, 000

167, 683, 25
245, 000

$12, 683.25

270,

38,
550,

43,
345,
296,
691,
243,
359,
324,
569,
663,

906. 50
142. 50
954. 43
517.00
863. 42
459. 00
554. 55
266. 25
569. 50
299. 00
189. 70
837.50

$4, 397,

059. 35
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$4’

3’
1’
47

oy s s

2 5

(3) A ’ .

4 s >

(%) , o

o

C 2.443 NORWAY $ 100 30 YL .

YL

YL

N N N s s

C 2. 45 NORWAY YL , $ 30, 000,
NORWAY o

397, 559.
200, 000.
400, 000.
167, 683.
245, 000.
384, 876.
000, 000.
384, 876.

$37
$37

$ 3.
$37

$3.
$ 3.

35
00
00
25
00
10
00
00

000
000

000

000

000
000
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( )
( )
, $1, 000
( )
$ 180,

(2]

’

C 2.463 NORWAY
000,

$500 (

Q)

YL s $10, 000,

5/30):

1’

$ 30,
$ 30,

$ 30,
$ 30,

000
000

000
000

$ 30, 000.00
$ 30, 000.00

$1, 000
$1, 000

000,

$9’
17
$ 10,

$ 10’
$ 10,
$ 10,

$9’

$ 10,

$
$

$
$

000.
000.
000.

000.
000.
000.

500.
500.
000.

180
180

180
180

$9.

00
00
00

00
00
00

00
00
00
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C 2.477  NORWAY 1988 9 1 , $ 50,
000, o $ 8, 000, , $ 1, 2000,
$ 40, 000, $ 48, 000,
) $ 50, 000, $ 40, 000, $ 10, 000,
@® ,
$8, 000
42, 000
: $50, 000
@
$57.50
: $57.50
$ 40, 000
: $ 40, 000
(2) o
= X
+
T
( 2.19)
C 2. 487 . NORWAY )
)

_ $50, 000—40, 000

X100% =20%

$ 50, 000
@
$11, 600 $2, 320
$ 14, 400 $2. 880
$ 14, 400 $2. 880
$9, 600 $1. 920
®
A. ,
$ 8., 000
— 42, 000
: — $50, 000
B. :
— $50, 000
— $ 40, 000
— $10, 000
C 10 12

$3. 600
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3 .
= X
C 2.49) C 2.473, NORWAY
® .
~ $50, 000— $ 48, 000 e
- $50, 000 X 10076 =47%
=$ 11, 600X4% =464
=$14, 400X4% =576
=$14, 400X4% =576
=$ 9, 600X4% =384
=2, 000

©)

A.

B.

C.

D.

7.

C 2.50) NORWAY YL

$3, 600, . YL
NORWAY

$3, 600

$2, 320
$2, 320

( 2.20)

$8, 000
42, 000
50, 000

$50, 000
$40, 000
$8, 000
2, 000

$3, 600
$3, 600

$ 464
$ 464

$ 20, 000,

$18, 000
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2, 000
: $ 20, 000
YL
$ 20, 000
$18, 000
2, 000
8.
C 2.51JNORWAY YL s 4, 000 , $ 20,
$ 40, 000,
A. YL , . $80, 000 .
— 4, 000 $ 80, 000
: — 2000 $ 80, 000
B. . $10, 000, 15, 000, :
— $ 80, 000
10, 000
15, 000
$ 80, 000
( ) $ 25, 000
C. :
— 2000 $ 105, 000
$ 25, 000
: $ 105, 000
D. YL :
— 2000 $105, 000
: — $ 105, 000
E. $ 40, 000
$ 145, 000
$ 145, 000
9.
C 2. 52JNORWAY YL . $ 15,00, $5,
000, $ 3. 000, $2., 000, $10, 000,
(1
$5, 000
: ( ) $5, 000
(2
$ 3, 000

$ 3, 000
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3
$10, 000
: $10, 000
)
$10, 000
$5, 000
3, 000
2, 000
10.
C 2.53) NORWAY 1988 $15, 000,
$ 12, 000,
$15, 000
$ 15, 000
$12, 000
$12, 000
$12, 000
1. . ,
C 2. 54JNORWAY 1988 5:1 $ 1,000, ¥5.000,
, 1989 . 4:1, NORWAY
¥4, 000 . 1, 000,
¥5, 000
— ¥5, 000
1989
— ¥ 5, 000
¥4, 000
1. 000
C 2.55J NORWAY . D/A . ,

o 90 s s $2. 000,
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@))
¥10, 000
: Y 10, 000
(2
¥ 10, 000
¥38, 000
2, 000

(3
Y 10, 000
¥8, 000
2, 000

o

(93]

C 2.56) NORWAY D/A90 $1, 000 , 1:
¥5, 000

¥5, 000

90 , 1:4, ¥1. 000

¥ 4, 000
¥1, 000
¥5, 000

XX XX
XXX X

KX XX
( ) XXX
XX XX

Q)
KX X

: XXX

2)

XXX

: XXX

3
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2' o ’

1. o

C 2. 57JNORWAY 1987 5 1 $ 500, 000,
12%, NORWAY 1987 12 31 1987

’ o

= $500, 000X1% ( ) X8 ( ) =$40, 000

NORWAY s $ 6. 000,

NORWAY 1988 $ 550, 000,
000,
2.
C 2.581 NORWAY 1988 7 1 YL
1.8% , NORWAY 1987 12 31 ,
NORWAY 6 30

$ 100, 000,

XXX
XXX

XXX
XXX

$ 40, 000
$ 40, 000

$ 554, 000
6, 000
$ 500, 000
40, 000
20, 000

$ 544,

$ 550, 000
$ 6, 000
544, 000

$ 10, 800
$ 10, 800

$ 108, 000
10, 800
10, 000
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Q)

(2

2.59]

NORWAY 1989

)

$1, 000, 000,

’

10

$ 520, 000,
$ 20, 000,
$ 10, 000,

$119, 440
2, 160

$2, 160
$2, 160

XXX
XXX

XXX
XXX

$ 400, 000,

$ 200, 000,

$ 20, 000
520, 000
400, 000

60, 000

$1, 000, 000
$10, 000
190, 000

$ 200, 000
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_ + = T+ + - ¢ 2.2D
= + — ( 2.22)
= + - ( 2.23)

s ’ o

(Cost of Goods Sold) , .

o ’ o

C 2.60) NORWAY 1988 1 2 YL s $ 20, 000,
$ 20, 000

$20, 000

$ 20, 000
$ 20, 000

. s “ ” (Purchase Returns and Al-

lowances) , s o
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C
YL

C

C

2. 61JNORWAY

’

2.62] NORWAY

’

YL

2. 637

, 19X1

, 19X1
11
, 19X1

NORWAY

$2, 000

11 1
11 30
11 1

YL

YL

19 X1

11

30

$ 500
$ 500

$2, 020, $20 YL

$2, 020
$ 20
2, 000

( 2.24)

- 25)
- 26)
.27
.28
-29)

~ A~ A~ ~ ~
DD NN N

$9, 000
61, 000
$1, 400
1, 340
2, 180
10, 600

$9, 000

$ 61, 000
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2, 180

63, 180

1, 400

1, 340 2, 740 60, 440

69, 440

, 19X1 11 30 10, 600
58, 840

s ’ o

NORWAY 11 30 :
(D : $72, 180
19X1 11 1 $9, 000
61, 000
2, 180

(2) : » 19X1 11 30 $10, 600
1, 400

1. 340
$13, 340

= ( + - ) + + ( 2.30)

(Direct Labor)
C 2.64) NORWAY $1, 000,

2 15 : $1, 000
$1, 000

2 28 : $1, 000
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1, 000
2 28 $2, 000
$2, 000
, (Indirect
Labor),
3.
C 2.65] NORWAY 1988 6 A
120, 000 s B 50, 000 s 10, 000 5, 000 s
9, 000 5, 000 6 A. B 121, 000
50, 000 o
NORWAY
1988
1 2
A C 3 2 2) 363, 000 242, 000
B ( 9 0 450, 000
363, 000 692, 000
$0.42 $ 0. 30
$152, 460 $ 207, 600
363, 000 692, 000
1988 6 30 20, 000 50, 000
383, 000 742, 000
: 1988 6 30 14, 000 65, 000
6 369, 000 677, 000
$0.42 $ 0. 30
$ 154, 980 $ 203, 100
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NORWAY
1988 6

121, 000 1/5 24, 200 $6 $145, 200
50, 000 1/5 12, 500 $6 75, 000
36, 700 $ 220, 000
NORWAY
1988 6
36, 700 )
$93, 700
4, 000
11, 000
300
1, 100
$ 110, 100
14, 000
20, 000
1, 000
400
800
500
36, 700
$ 146, 800
$3.00
1. 00

$ 4. 00
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NORWAY
1988 6
( ):
1 $ 152,460
2 207,600 $ 360,060

( ) 220,200

( ) 146,800

$ 727,060

1988 6 1 110,600

1988 6 $ 837,660

1988 6 30 165,900

$671,760

1~ - o ’
2- ’ 9
; XXX
XX X
( )

XX X
( ) XXX
( ) XX X
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XXX
XXX

XXX
XXX

XXX
KX X
XXX

XXX
XXX
KX X

XXX
XXX
XXX
KX X

XXX
XXX

XXX
XXX
XXX
KX X

XXX
XXX

XXX
XXX

XXX
KX X
KX X

XXX
XXX
KX X
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XXX

XXX
KX X

( ) XXX
XXX

— KX X
( ) XXX

’ o

C 2. 66 JNORWAY 1988 1 1 YL s $ 50,
000, $ 500,000, s ,

$ 50,000
500,000
$ 542,500
— 7,500
1988 1 10 :
— $7,500
( ) $ 7,500

(D
XXX
: X X X
)
XXX
: XXX
(3 s
XXX
KX X
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Q)

2

XXX
KX X
XXX

XXX
XXX
KX X

XXX
XXX
XXX
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(O

)

3

XXX
XXX

XXX
XXX

XXX
XXX
XXX

XXX
XXX

XXX
KX X

XXX
XXX

XXX

XXX

KX X

XXX

XXX
KX X

XXX
KX X
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— XXX
XXX

4 N

XXX
X X X

KX X
XXX

XXX
KX X

XXX
XXX

KX X
XXX

XXX
XXX

KX X
XXX

C 2. 67INORWAY 10,000,000, $ 5,000,000,
$ 8,000,000, :
. . 6%.2% 2%,
:$10,000,000X 6% = $ 60,000
: $8,000,000X2% = $16,000
:$5,000,000X 2% = $ 100,000

: $176,000
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C 2. 68INORWAY 1988 6 1 , > $ 3,
600,

$ 3,600
$ 3,600

$3,600
: $ 3,600
12 31
$ 1,500
$1,500

$ 2,100
$2,100

XXX
XXX
— KX X

— XXX
XXX

XXX
XXX

X X X
KX X

XXX
KX X
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C
D)
¢)

3

$ 60,

(O

s

2. 69JNORWAY
YL

YL

2. 70JNORWAY

o

2. 71JNORWAY

YL o

YL

$ 50,000,
$ 2,000, $ 500

$ 50,000,

$ 1,500,

$ 1,000,

XXX
XXX

$ 51,000
$ 51,000

$ 2,000
$ 2,000

$ 5,000
$ 500

$1,000,
$ 50,000

1,000
$ 51,000

$1,000,

$1,500
$ 1,500
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0.5%,

(2)
> “ ”(Loss on Bad Debt)

1.

@)

C 2.72] NORWAY 1988 12 31

= $427,000X0.5%=%2,135
¢ ” ($630+ $2,135)$ 2,765,
(2)
s $ 40,000,
$ 3,000 ,

$ 1,000
$ 940
$ 60

$ 60
$ 60

$ 40,000

$ 630
430,000
3,000

$ 430,000

3,000

$ 427,000

$2,135
2,135

3,000
630
$ 2,370
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C 2. 73JNORWAY YL $1,550,YL 1988 s s
NORWAY , » YL s o

(O

: —YL 1,550
(2)
—YL $ 1,550

s YL $ 1,000, s $ 500 s

$1,000,
“ ”(Allowance Method) , “ ”

o N ”(Direct — write — off —

Method) s s o

C 2.74] NORWAY YL $1,200 > s

$1,200
YL 1,200

$1.200
1,200
$ 1,200
1,200

—YL $1.,200
1.200
“ ”(Bad Debt Recovery) , “ ”
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“ ”(Retirement) , .
[@D) o
(2) s
(3) s o
) s .
(O . s s
= X ( 2.3D)
= X ( 2.32)
= — ( 2.33)
(2) o o b b ’
= ( 2.3
= X ( 2.35)
= — ( 2.36)
(3) o o
A.
= X— ( 2.37)

= X——— ( 2.38)



. 153

= — ( 2.39)
B.
= — ( 2.40)
= X— ( 2.41)
(4 . s .
- ( 2.42)
@ ’ o
@ ) .
_ — ( 10%)
1’
_ 1—10% ( 2.43)
(@] . 20 s
1—10% _90% . _,
20 20 %%
(2) . . 10 s

— 0, 0
1 104790479%

10 10
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3 N 5 .

— 0 0
1 éoA:%f:ls%

12 o s

— ( 2.44)

XXX
XXX

KX X
XXX

XXX
KX X
XXX
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D)

2

Q)
(2

3

D)

2

30%,

o

2. 75JNORWAY

1—4

$ 4,000,

10%,

$ 3,000,

$ 370,

$ 3,630,

XXX

XXX
XXX

X X X
KX X

30%430% X10% =33%

°

$ 3,000
$ 3,000

$ 3,000
$ 3,000

$ 630
$ 630

o

$ 4,000
$ 4,000

$ 4,000
$ 4,000

$ 370
$ 370
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$ 370
$ 370
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1. ;
2. , . ;
3. , , ;
4. , ;
5. ;
6. . ;
7. o
C 2. 76INORWAY . N >
. 1,000,000 .
. $200,000(10%+10%), .
$ 300,000, o

°

( 1 ) 200,000
( 1 ) 300,000
( 18 ) 200,000
( ) 300,000
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1,000,000
10%
1 10
az ) 30
s ) 20
(24 ) 30
100%
C 2. 77JNORWAY 1,000 . 1 7%,
10%, 20% 40% , 30%., 1,5 50
1,500
7%
$1,000 ®) $ 300
(E) 400
(G 300
$1,000
$1,000 $1,000
(&) $ 400 ¥ $ 400
(&) $ 300 (H) $ 300
(A) $155
B $150
(1,000X20% — 50 )
e $ 400
(H) $ 300
N © (A) $ 155
® $5 i
% 300 B $ 150
: $ 305
$ 305
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’ ) . 10
C 2. 78INORWAY 5000 10 , 10 .
(1) 50,000
1) 50,000
1) $ 50,000 (1) $ 50,000
H ) o 7( I )
, (1) .
’ . . 12
C 2. 79INORWAY 5,000 10 , 12 .
$ 5,000
$ 60,000
$ 10,000
(1) $ 50,000
1) $ 50,000 $ 60,000
(1) $ 10,000
$ 60,000 $ 60,000
(1) $ 10,000
b ( ) .

s 10,000 s
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9 o ’ 8 10
C 2. 80JNORWAY 5,000 10 . 8 .
$ 50,000 $ 40,000
$10,000
$50,000 $ 50,000
$10,000
$ 10,000
$ 40,000
$ 50,000
$ 50,000
? .
C 2. 81JLS GS 1984 1 1 , 5,000
10 ( ), :
LS 1984. 1.1
$ 50000 $ 50000
GS 1984.1.1
$ 50000 $ 50000
, 1988 12 31 . A 50,000
, 10 5,000 . , (a) .
(b) .
LS (1) 1988. 12. 31.
(a) b (a) )
$50,000 |  $100,000 $ 55,000 $ 55,000
10,000 10,000 5,000 55,000
60,000 110,000 60,000 110,000
. . 5,000 60,000 ( 10,
000 ), . 12 . , 10,000
, 110,000 ( 50,000 ) 11 . .

1 (=12—11 , 10 s
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s 11 o s
b o b ?
12 , 12 , :
LS (1) 1988.12. 31
(a) (b) (a) (b)
( ; 50,000 100,00 55,000 55,000
10,000 5,000 65,000
10,000 10,000
60,000 120,000 60,000 120,000
. () 60,000 R 12 ¢ 5,000 ), (b)
120,000 ¢ 10,000 ), 12 .
GS , . .
). , 40,000 , 5,000 8
5,000 . 10 R 8 .
GS 1988. 12. 31.
50,000 100,000 30,000 30,000
10,000 50,000
10,000
10,000 10,000
50,000 100,000 50,000 100,000
. s A 1000 $1, $ 1,000,
$ 800 , A . $950 B .
$ 40,
, ( )
1. o o
(@]
— $ 1,000
: $ 1,000
2) A
$ 800
: — $ 800
(A

$1,000
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€Y

(&)

(O
)

3

4

5

6)

$ 200
$ 800

$ 950
$ 50
$ 1,000

$ 40
$ 40

$ 1,000
$ 1,000

$ 800
$ 800

$ 1,000
$ 200
$ 800

$ 950
$ 50
$1.,000

$ 40
$ 40

$ 710
$ 710
. 1.2 (3 BB

$ 1,000
$ 200
$ 800
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C 2.82) $ 100 200 $ 50 20
200,
$ 105, $54,
(200X $105)
(20X $54)
21,000 _
22,080>< $22,200=$ 21,114
1,080 _
22’080>< $22,200=$1,086
2- .’
’ $1057
(200X $105)
3~ ’ ’ o
20,000
21,000>< $ 22,200
1,000 X
21,ooox $ 22,200

$ 22,

$ 21,000
1,080

$ 22,080
$ 22,200

$ 22,200
$ 20,000
1,000
1,114
86

$ 22,200
21,000
$1,200

$ 22,200
20,000
1,000
1,000
1,000

$21,143

$ 1,057

$ 22,200

$ 22,200
$ 20,000
1,000
1,143
57
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1. ,
2. (1
1 (2
(2
3.
X X X X X %X X
110, 000 ®2, 000 (D12, 000
( )
@2, 000
@10, 000 @8, 000
( )
:
@ , “@ 2] .
) (Preemptive Rights)
s ( )
, (Subscription Warrants)
(1) . ) 3
(2) b .,
3 s ,
C 2. 83INORWAY $ 100 $105 1,000
1,000 , $ 25,
@)) $ 25, $24

$ 105,000
$ 100,000
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(2 $ 25,

000X $2=$2,000) .
3 $25 1,000
4)

C 2. 84JNORW AY

$ 1,020, 100
$25), $ 37,
(100X $1,015)

(100X $5)

(1) N
500

2 .

$27 ’ ’

$ 27 ,

$100,000(100 .10 6%
. 100
$1,015,

5,000
1,000 (1,

$ 105,000
$ 100,000
3,000
2,000

“ ”

$ 25,000
2,000
$ 27,000

$ 2,000
$ 2,000

, $ 1,000,
$ 32(
$5.
$101,500
500
$102,000(=100X $1,020)

“ ”

$102,000
$ 100,000
1,500

$3,200(=100X $ 32)
2,500
$ 500
1,200
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’ ° ’ ’ $17000
> $10 80 80,
$12.50(=$1,000+80),

\ ( ) “ ”
C 2. 85INORWAY 100 . 1000 40
. 45,000  ( 50,000 ),

50,000

5,000

40,000

5,000

NORWAY .

( $50, 1,000 ) $ 50,000

1,500

( $10, 10,000 ) 100,000

20,000
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C

180,000
,NORWAY $51.50/
25% .
($50,000X25%) $ 12,500
($1,500X25%) 375
($250X5X10) $ 12,500
375
($50,000X25%) $12,500
($1,500X25%) 375
($250X4X10) $ 10,000
2,875
6 .
($50,000X25%) $12,500
($1,500%X25%) 375
2,125
($250X6X10) $ 15,000
2.86J ; )
$ 150,000, $ 100,
. 480 ; $ 300, $ 1,200, $1,500,
300 $110,
1988. 12. 31
$ 600
6,300
600
17,700
6,000
22,500
o 4,500
3,000
1,800
— 25,200
— 18,000
$ 53,100 $ 53,100

[@2]
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(= (480X $110)—(18,000+25,20042,400)]

(480X $100)

(300X $100)

’

1.2

’

3.4

$1.200
$ 1,500

$ 300
$ 2,400

7,200
$ 3,600
3,600

$ 30,000
22,800
$ 48,000
4,800

$ 33,000
$ 30,000
3,000

$ 900
$4,500
3,000
1,800
52,800
$ 600

$ 6,300
$17.700
7,200
24,000
7,200

$ 52,800
52,800

$ 30,000
22,800
$ 52,800
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C

(O

)

2.87]

150,000

150 $ 1,000,

$ 600
6,300
17,700
7,200
24,000
7,200
$ 900
4,500
3,000
1,800
2,800
52,800

$ 52,800
$ 48,000
4,800

$ 33,000

$ 30,000
3,000

’

$ 90,000

10,000
14,000
29,000
50,000
103,000

13,000

90,000

103,000

$ 103,000
$10,000
14,000
29,000
50,000
$13,000
$13,000
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3
D)

2

(3) $ 60,000

€Y

$ 90,000
$ 90,000

$ 150,000
$ 150,000

$ 10,000
14,000
29,000
50,000

$ 13,000
90,000

$ 60,000
$ 60,000

$ 150,000
$150,000

o
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N
b Y b 9
“ ”
’ o
s N .- (Present
Value ) ” “ ” s
.’ ’

o

C 2.8831  $1.,000 , 6% , $ 1,060,
$ 1,060 $ 1,000 6% .



172 . .

= X 1+ X ) ( 2.45)

$1060=$1000X (1+6% X 1)
~a+ > 5 ( 2.46)
. _ $1,060
8 1,000=755775
s ( ) s s
. (1) 3 (2) ;(3) (
Do
( ) s s
= X (1+ ) ( 2.47)
C 2. 897 $ 1000, 8%, .3 :$1,000X (14-0.08)°=
$1,259.7  $1,000 8% 3 $1,259.7 .
$ 1,240,
N «C 5 ) ( ) s o
( )
(@] :
(2) ;
(3) o
= ( )=
< ( )<< ( — )
> ( ) > ( + )
R $ 100,000, 6% .4 s
. . ( 2.1)
( ).

2.2,
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2.1
6% = 6% 6% < % 6% > 5%
$100,000X (1+0.03) 8 $100,000X 0. 7594—>(14-0. 035) 8 $100,000X 0. 82075~ (140. 025) 8
= $78.940 =$75,940 = $82.075
$3,000X7.018—>(1+0. 03)8 $3,000% 6. 8740—>(14+0. 035)8 $3,000X7.170—>(14-0. 025)8
=$21,060 =$20,620 =21,510
$100,000 T
=$78.940+ $ 21. 060 $96.563+3,473
$103,585—3,585
( )
$100,000 $100,000 $100,000
2.2
( ) $ 100,000 ( ) $ 100,000
3,437 : 3,585
( ) $ 96,563 ( ) $103.585

( )
“ ” - +
“ ” ( )
“ ” ( )
) b “ (
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= NI = B
. . . - . 3,585
$3,430:$3,ooo+3¢837 $2.552= §3.000— 2=

’ o
= ( ) X
( 2.48)
o ’
C 2. 90JNORWAY 1977 1 1 $ 15,000, $16,500, 1977
12 31 ,
( )
M= $100,000X3% ®:$3,437><% ®=0+@ | ®= - |®=$100,000—

1/1 $3,437 $ 96,563
1989

1 3,000 430 3,430 3,007 96,993

2 3,000 430 3,430 2,557 97,423

3 3.000 430 3,430 2,147 97,853

4 3.000 430 3.430 1,717 98,283

5 3,000 430 3,430 1,287 98,713

6 3,000 430 3,430 857 99,143

7 3.000 430 3,430 127 99,573

8 3,000 427 3427 0 100,000

$ 24,000 $3,437 $ 27,437
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C

1977 $ 5,000 5/15($ 5,000/ $15,000) $ 500
1978 4,000 4/15 400
1979 3,000 3/15 300
1980 2,000 2/15 200
1981 1,000 1/15 100
$ 15,000 $ 1,500
. (2):
2. 91JNORWAY 1981 1 1 s 8% $ 200,000,
$ 100,000, o 1984 12 31 s
7 1 1 1 o s
$ 100,000, 6% %
( )
®= B X3.5% | @=$100,000x3% B=0-© @®= [OFE) = $100,000—@
1/1 $ 3,437 $96,563
1989
1 $ 3,380 $3.,000 $ 380 3,057 96,943
2 3,393 3.000 393 2,664 97,336
3 3,407 3,000 407 2,257 97,743
4 3,421 3,000 421 1,836 98,164
5 3,436 3,000 436 1.400 98,600
6 3,451 3,000 451 949 99,051
7 3,467 3,000 467 482 99,518
8 3,482 3,000 482 —0— 100,000
$ 27,437 $ 24,000 $3.437
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$100,000. 6%, 5%
(D= $100,000X3% @= ®Xx2.5% B=0-© @= (OEE) ®=$100,000+®
1/1 $ 3,585 $ 103,585
1989
1 $ 3,000 $2.590 $410 3,175 103,175
2 3,000 2,579 421 2,754 102,754
3 3,000 2,569 431 2,323 102,323
4 3,000 2,558 442 1,881 101,881
5 3,000 2,547 453 1,428 101,428
6 3,000 2,536 464 964 100,964
7 3,000 2,542 476 488 100,488
8 3,000 2,512 488 0 100,000
$ 24,000 $ 20,154 $3,585
1.
$100,000
$100,000
1981 8% $ 100,000
$ 4,000
$ 4,000
2.
1981.1. 1. NORWAY 109, )
$93,537C 5%, 8 %1 0.67684  6.46321, ,
(= $100,000X0.67684+ $4,000X6.46321=) $93,537]
$93,537
6,463
1981 8% $ 100000
( s s s
$6,463+8= $808)
$ 4,000
$ 4,000
$ 808
$ 808
3.
6%, ; $107,020¢(
%%, 8 %1 0.78641  7.01969, $100,000 X 0. 78941
+ $4,000X7.01969=$ 107,020)
$107,020

1981 8% $ 100,000
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$ 7,020

$ 4,000
$ 4,000
$ 789
$ 789

C 2. 92INORWAY 1980 7 1 1980. 4.1 10%
, $ 60,000, $62,622, $ 1,500,

$ 64,122

$1.500

1980 10% 60,000
2,622

$ 1,500
1,500
$ 3,000
$138
$ 138

s o ’ ’

o »1980.12.31.

$ 1,362
138
$ 1,500
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C 2. 93INORWAY 1989.1.1.  $50,000 LRR , .
:LRR — $ 50,000
$ 50,000
. $ 50,000
:LRR — $ 50,000
“>< >< ”, “ ” s “ ”, “
, “ ” “XX
:LRR — $ 50,000
$ 50,000
$ 50,000
$ 50,000
: $ 50,000
:LRR — $ 50,000
19X X X X %( YO ) $ X X X X X( )
$ XX X X X
s s ( )
( ’ )o b b
C 2. 94INORWAY 1984 $ 100,000 .

. “ ”’ “ ”$ 25,000

s ’ o
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C
$ 10,000

DO

2)

C
WAY

2. 95INORWAY , 1984 3 1 102( 102%)
s (1984 1 1 (1984 3 1

$83(:$10,000><0.05><%>, $7,

$14, , $10,000 , :
(102%) $10,200
83
$10,117
$ 10,000
($7X34) 238
9,762
$ 355

$ 14
$14

$ 10,000
83

355

$ 238
10,200

2. 96JNORWAY , 1988 12 31 $ 50,000, NOR-

’ $89OOO s
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1 . $ 8,000
$ 8,000
2 . $ 32,000
$ 32,000
$ 5,500,
3) $ 37,500
$ 32,000
5,500
s $ 300,
4) $ 300
$ 300
s $ 100, :
(B $ 100
$ 100
” $ 50,700,
$ 50,000 , , “ ?
6) $ 50,000
: $ 50,000
a7 $ 700

$ 700

’ ’ )
’

“ ” “ ” & ”
]
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;(3)

3 (2)

”)

(D

: (D)
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. . $ 100
. . $ 1,000, 106, $ 1,060, .
1/8 . s NORWAY
NORWAYR 8 % 95 45 103 102 102 % 1
45 NORWAY 8 % $1,000 1995
, $103, $102, $ 1,000 $1,030 $1,020, (
) $102% $1,025, $1, $10.
C 2. 97JNORWAY YL 5% 500 $ 100, $ 50,000,
101 $50,000( ). s . $100.875,
$50,437.50, . .
YL 5% — ( $50,437.50) $ 50,500,
C 2. 98INORWAY 1988 12 31
$ 43,100 $ 36,750
@D) $ 6,350
$ 6,350
,NORWAY . .
(A)
—_— ( $43,100) $ 36,750
B
$ 43,100
6,350
$ 36,750
1989 . $ 38,000,
2) $ 38,000
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o

C 2.99INORWAY 1988
$ 1,000 10
. 1 1 430

$9,820X10+ $20),

— YL

( ’
C 2.100JNORWAY 9
($982X6), $ 20,
7. 5%><%),
——YL
NORWAY
s $ 375
$ 250( )
$ 2500,
C 2.101JNORWAY 1982

(7

1988

24

$ 980 YL 1986

$ 20, 1 1 7 1

1

$4,620(

$ 250(= $1O,000><7,5%><1i2)7

YL 6 .
8§ 31 )

($6,000—$20)— $5.892=§ 88,

1 ’

( )
s NORWAY

6,350
$ 43,100
1,250

7.5%.

$9.820
250
$10,070

o

$5,892

$75(= $6,000X

$ 6,055
$5,892
88

$ 375

$125
250

$ 125,

YL
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100 , :
— YL $ 4,620
$ 4,620
C 2.102JNORWAY 1983 1 28 $ 40 YL 80
$15, $3,185, 80 80X $42=$3.360,
$175,
$3,185
175
——YL $ 3,360
. . ., YL 12 28
$1.50, ,.NORWAY
$150
$ 150
. YL 10% . ,NORWAY
( ) YL 10 110 $42(=
$4,620/110 )
. . ( ),

— (Open Market) s “
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’ ’ o

Do

C 2.103JNORWAY 1982 1 1 $103,585 YL 4 6%
, $ 100,000 ( . . $3.585 ). YL
11 71 . , “
® $103,585
$103,585
$3,000(= $100,000X0.06X1/2), .
. YL 4, 8 . NORWAY $ 3,585
, $448(=3,558+8),
@ $ 3,000
$ 448
2,552
. ( ) $ 448¢ $ 449 )
. $ 100,000 , ( )
3.
QD] . ’
1982.2.1. 1 103,585
1 3,000 2,552 448 103,137
2 3,000 2,552 448 102,689
3 3,000 2,552 448 102,241
4 3,000 2,552 448 101,793
5 3,000 2,552 448 101,345
6 3,000 2,552 448 100,897
7 3,000 2,552 448 100,449
8 3,000 2,551 449 100,000
24,000 20,415 3,585
(ONORWAY $ 50,000 YL , .
:YL $ 50,000
: $ 50,000
@YL $ 15,000, $ 2,500, R
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$2.500
: $ 2,500
®YL $ 7,500, $ 2,500, .
$ 2,500
: $2.500
MYL . $ 6,000, . .
(2) o s s
YL YL
50,000 50,000 "
YL 15,000 15,000"
YL 2,500" 2,500
15,000 15,000"
62,500
:YL 7,500" 7,500
YL 2,500" 2,500
7,500° 7,500
52,500
;YL 6,000" 6,000
6,000" 6,000
46,500 x
(3) ° ® ;® )
C 2.104INORWAY 1982 4 1 $106 YL 1980 8% 10
$ 100 50 $ 10, 1 1 7 1 R
$100(= $5,000X8% X3/12), 5,310(= $ 106 X
50+ $10),
—YL $5,310
100
$5,410
. $ 310, 93 . $3.33, 7 1
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$200(=$5,000X8% X1/2)

s

$10,

’ $1Oo
1
2
—YL
$ 20
( .’
s Do
) .
NORWAY 1986 10 1
1986 7 1
$100
$5,482(=$110X5— $18)
@®
@
: ——YL
® ( )
——YL
1. 20%
2. 20% —50%
C 2.105JNORWAY 1984 YL
$ 16,000, $12,000,NORWAY

s

$5,300(=$5,310—$10),
$ 200
$100
100
$10
$10
$ 200 ,

’ (
o NORWAY

$110 .
$ 5,140,

$ 18,
1986 7 1 9 30

’

$5,130(=$5,140— $10), $ 352,

$ 100
$ 100

$10
$10

$5,582
$ 5,130
100
352

25%,
$ 3,000,

YL
,NOR-
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WAY
@ YL $ 16,000
—YL
@
——YL
3
s 20%
(1973 )
—YL 1885
$ 100,000
—YL
$ 45,000

25%

50%

$ 4,000
$ 4,000

$ 3,000
$ 3,000

1974

$ XX X X XX

$ 89,810
$103,585
3,585

$ 50,000
$5,000
$ 238,395

$ XX X X X X
$ XX X X XX
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’ ( ) ’
. ( )
( ( ) s
( ) ;@ 1)
? .
N (Net Income)
“ ” \ (
s s ) ;
s (G ;C ) ( . )5 (
s [@D) (= — )3 (2) (=
)5 (3) (= — )5 (4) ;(5) o
$ 840,000
— —520,000
€D) $ 320,000
—165,100
2 154,900
40%) 61,960
(3) $ 92,940
4) —540
(5) $ 92,400
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o ° ’ .
“ ” “
3 3
”
° ’
“ ”
D X 3 N N
’ 3
’ ~ ’
“ ] “
’ ’ N .
” “ ” “ ” 0
’ 50 A > o
° . N
( N ,
’ o ’

’ o b 10%’
. 5% ) b 10%?

3(3) 5 (4) .

;(2) ;(3) o
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o

C 2. 106 JNORWAY 15,000 , 7 1

5,000 .4 1

000 25%)
=5,000X12/12415,000X 9/1245,000X12/12=21,250
NORWAY ,NORWAY $ 92,940,
$ 540, 92,400(= $ 92,940—540) 4.35(=%$92,400/21,250),

$4.37(=92,940/21,250),

$0.02(= $540/21,250),

57

s “ ")
: (D) ;(2)
2.107JNORWAY $100,000, 40,000 (
) 5,000 $2,
$6. (
$100,000 $ 100,000 $ 100,000 $100,000
10,000 0 30,000 0
$ 90,000 $ 100,000 $ 70,000 $100,000
40,000 40,000
50,000 50,000
$2.25 $2.00 $1.75 $2.00
$0.25, ,
$0.25,
( )
1. ( ) ( ) ;
2. ;
“ “ OF
4. (@D ;(2) ;(3) s “
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1.
[@D) (Date of Declaration), s
2 (Date of Record),
(3) (Ex—dividend Date)
4) (Date of Payment),
2.
s (
)
, . 10%
@))
(2 ;
(3 .
C 2. 108INORWAY 1982.2.1.15 $ 50 1,000

1982.2.2. 29 ,1982.2.3.15 s
D) ,
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¢))

3

C
$ 50,000,
(D

2)
3

€Y

C

o

2. 109INORWAY

o

2. 110JNORWAY

$50,000(=1,000X $50)
$ 50,000
$ 50,000
$ 50,000

$ 50,000
$ 50,000

“ ”

;(2)

$ 50,000, YL s $ 40,000,

$ 10,000
$ 10,000

$50,000(= $ 40,000+ $10,000)
$50.000

$ 50,000
$ 50,000

$ 50,000
$ 50,000

$ 50,000
$ 50,000
$ 10,000 .

$16,000,60 5% s (
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$6,000 $10.,000)

€h)
$ 6,000
10,000
: $ 16,000
(2)60
$ 16,000
($16,ooo><5><ﬂ> 133
360
$16,133
, ( 10%)
800 . 8,000, $10(:%), 25% . 200
(=800% 25%). $8<=%>, $2(=$10—$8).
€D) : . ,
2 : s s H
(3 , )
( 100% )e
C 2. 111JNORWAY , $ 6,000, $7,200,
@))
$ 7,200
: $7,200
(2)
$7,200
: $7,200
3
$7,200
$ 6,000
1,200



. . 195

(500 $100) (10,000 $5)
$ 50,000 $ 50,000
2,000 2,000
8,000 8,000
$ 60,000 $ 60,000
( ) .
( ) s
= ( 2.49)
C 2.112JNORWAY : 1,000 $ 100,
$ 100,000, $3,000; 1,000 $100; “
” $ 50,000,

 $100,000+ $3.000
- 1,000 =$103

 $250,000— $ 103,000
= 1,000 = 147




196 . .

) b b o A B
C , B C .
A . A . .’ .
’ 15% o ’
. ( ) . , .
( , Taxable Income) ,
= X ( 2.50)]
_ _ _ — X(1—15%), s
( ) ( )
0 $ 25,000 0 15% $25,000X15%
$ 25,000 50,000 $3,750 18% 3750+ (50,000—25,000) X 8%
50,000 75,000 8,250 30% 8250+ 30% X (75,000—50,000)
75,000 100,000 | 15,750 40% 15,750+40% X (100,000—75,000)
100,000 25,750 46 %
C 2.113JNORWAY $ 90,000,
$ 15,750+ ( $90,000— $ 75,0000 X40% = $ 21,750
. $21,750
, (Effective Rate), ,NORWAY £$90,000
24.2%, , s

(Margminal Rate), $ 100,000 R
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X46% — $ 20,250

s (Capital Gain)

(Capital Assets) ( Do
s N (Capital Loss), s
( ) ) s
. 28% .,
, 5%,
C 2.1143 NORWAY 1988
$ 500,000
20,000
20,000
$ 540,000
$ 10,000 180,000
$ 360,000
. $ 5,000,
NORWAY
1988 ( 1988.12.31)
$ 500, 000
20, 000
$ 20, 000
5, 000 15, 000
$10, 000 17, 000
$ 535, 000
$363, 000 5% 18, 250
$ 346, 750
$ 20, 000X85% 17, 000
$329, 750
28% 15, 000
$ 314, 750
$15, 000 28% 4, 200
( X46% — $ 20, 250) $124, 535

$128, 735




198 . .

(Pretax Accounting Income) s s
(D o s ,
2 o
, ( Do
(D (3
) Y]
(l) b
(2) 9
(3 ,
€Y s
9 (
) NORWAY :
C 2.1153 NORWAY 1985. 1.1 $ 50, 000 s 4
<NORWAY ,
o . 1985 1988

. $ 50, 000, 40% .
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NORWAY 1985 1988 ,
1980 1981 1982 1983
$50, 000 | $50, 000 | $50, 000 | $50, 000
(
) 11, 000 12, 000 13, 000 14, 000
39, 000 38, 000 37, 000 36, 000
15, 600 15, 200 14, 800 14, 400
( 409%)
1980 1981 1982 1983
$ 50, 000 $ 50, 000 $ 50, 000 $ 50, 000
( ) 12, 500 12, 500 12, 500 12, 500
$37, 500 $37, 500 $37, 500 $ 37, 500
$ 37, 500 $37, 500 $ 37, 500 $ 37, 500
15, 600 15, 200 14, 800 14, 400
$ 21, 900 $ 22, 300 $22, 700 $ 23, 100
($37, 500
X40%)
$37, 500 $37, 500 $ 37, 500 $ 37, 500
15, 000 15, 000 15, 000 15, 000
$ 22, 500 $ 22, 500 $ 22, 500 $ 22, 500
, . NORWAY ,
( .’ .’
., )9 b
C 2.116) NORWAY 1985 1988
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1985 $ 15, 000

600

$15, 600
1986 $ 15, 000 $15, 600
200 $15. 600

$15. 200
1987 $ 15, 000 $15, 200
$ 14, 800 $15, 200

200
1988 $ 15, 000 $ 14, 800
$ 14, 4000 $ 14, 800

600
1989 $14, 400
$ 14, 400

, (Deferred Income Tax Debits)
( ).

o s

(Deferred Income Tax Credits) ,

1985
1986

$ 600
200

1987
1988

$ 200
—600
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1 N
(2

$5, 5, 000
(3)
4)

$ 8, 000,

C 2.1173
€D)

2

$1 .

$10, 000,

2) (3

s

$ 100, 000

$5, 000

19

000

$15, 000;

$5
10, 000

$8, 000,

3

$1

$1

10, 000

$ 100, 000
$ 100, 000

$ 100, 000
$ 100, 000
. (
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)
2.
C 2.118) 1000 $ 100, .
$ 100, 000
$ 100, 000
NORWAY o
C 2.1193 NORWAY 10 $1 1,000 $1, 000 ,
1, 500, 15%, $1, 000 R 100% .
, $1, 000 $1, 000 ( . . , s
) $ 7,000 , $ 8,000, $ 3,000,
, $1, 000 $7, 000 ., $7, 000
$ 7, 000 , . , $1
’ 7 ’ $1o .
NORWAY
( ) 1988.12.31
$1, 000 $5, 000
( ) $9, 000 5, 000
$ 10, 000 $10, 000
NORWAY
( ) 1980.1.1
$5, 000
($1, 0004+ $7, 000) $8, 000
($9, 000—$7, 000) $2, 000 $5, 000
$ 10, 000 $10, 000
$1, 000 s 1, Ooox@:uﬂ%

P8, 0007 1
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, 1, 000 $10, 000 ,
$ 10, s $10 $8.
8
8 ’ 8, 000° ’
. 10 $1 , . 8 .
$8.
NORWAY
$ 7, 000
$7, 000
$ 7, 000
(
) $7, 000
[@D)
(2) ( )
(3
( )
(4)
( )
[@D) : ( )
(2
( )
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000,

QY)

2

(O

(2)

s

2.120 NORWAY

2.121)

’

2.1223 NORWAY

2.1233

$507

1,000
1, 000
$ 100, 000, 1, 000
$ 200, 000, 2,000

[l

$ 100,

$ 100,

$ 100,

$ 105,
$ 100, 000

5, 000
$ 105, 000

$987

$ 100, 000
$ 98, 000
2, 000

$100, 000
$ 100, 000

$ 50, 000,

$50, 000

$50, 000

$ 100,

$ 100, 000
$ 100, 000
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1) o , “

(2) o s “ ” s
C 2.124) NORWAY $ 100, $ 105 . $110

100 :
($100x100) $ 100, 000
($5x100) 500
500
($110X110) $11, 000
( ) ( )” o
., NORWAY $110 100 :
($100X100) $10, 000
($100X100) $ 10, 000
C 2.1251 NORWAY 20, 000 $10, $10.5 .
” $9, 600, “ ” $ 13, 000, $12
200 :
— $10. 20, 000 $ 200, 000
200 2, 000 $ 198, 000
( )
13, 000
9, 600
$ 220, 600
, . NORWAY

$ 11, 000
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$11.

$11,
11,

$12.
$11,

4. ; ( $5/ )
$ 10,

$11,

s B NORWAY s
$ 10,
($5X100)
$11,

( $10, 20, 000 ) $ 200,
10,
$2,

10, 600 13,

$ 223,

( ) 2,
$ 220,

000

000
000

000
000
000

500
500
000

000
500
000

000
000
400
000
000
400
600
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C

50% s
) .
2.126JP S 1988 10 1
P 1988. 9. 31
$ 18,000
$ 402000 20,000
25,000 $ 38,000
20,000 $100,000
$ 85,000 37,000
90,000 137,000
$ 175,000 $ 175,000
S 1988. 9. 31
$ 7,000
$ 5,000
3,000 $ 15,000
6,000 2,000
$ 14,000 17,000
10,000 $ 24,000
$ 24,000
P S 100% .
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N

P $ 13,000 $10,000, S ,P
(1988. 9. 31) : S $ 23,000
$ 13,000
10,000
P S s
P 1988.10. 1
$18,000
$ 27,000 30,000
25,000 $ 48,000
20,000
$ 72,000 $ 100,000
S 23,000 37,000
90,000 137,000
$ 185,000 $ 185,000
B S s
P “ s ” S
. . ( $23,000  $17,000), .
. S S
P . s . P S
S o ) .
S
$ 23,000
$ 5,000 $ 5,000
3. 000 3,000 B
7,800 7,800 B
12,000 12,000 $1.800
(7,000) (7,000) 2:000
$ 17,000 20,800 .
$ 3,800
$ 2,200
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(Consolidated Balance Sheet)

P S
1988.10. 1
P S
27,000 5,000 32,000
25,000 3,000 28,000
20,000 6,000 (a)1,800 27,800
(a) 6,000
23.000 (b) 17,000
90,000 10,000] (a)2,000 102,000
— — (a)2,200 2,200
185,000 24,000 192,000
18,000 7,000 25,000
30,000 — 30,000
100,000/ 15,000| (b)15,000 10,000
37,000  2,000] (b) 2,000 37,000
185,000 24,000 23,000] 23,000 192,000
P S 1988.10. 1
$ 25,000
$ 32,000 30,000
28,000 $ 55,000
27,000
$ 87,000 $ 100,000
102,000 37,000
137,000
2,200
$192,000 $ 192,000
, P S
(

(Badwill) ,
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. ., P $ 20 500 S
$ 100 150 ,P
(1988.10.1) S $17,000
$10,000
$ 5,000
( ) 2,000
S 7 S $ 17,000 .S
$ 15,000, P $10,000(500 X $20),
$ 5000, “ ” .S
P .
.S ., P

P 1988.10. 1

$ 18,000

$ 40,000 20,000

25,000 $ 38,000

20,000

$ 85,000 $ 110,000

5,000

S 17,000 39,000

90,000 154,000

$ 192,000 $192,000

P “ ” S ( ) ,
( Do
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P S 1988.10. 1

P S
40,000 5,000 45,000
25,000 3,000 28,000
20,000 6,000 26,000

S 17,000 — _
90,000| 10,000 17,000 100,000
192,000 | 24,000 199,000
18,000 7,000 25,000
20,000 — 20,000
110,000 | 15,000| 15,000 110,000
5,000 — 5,000
39,000 2,000 2,000 39,000
192,000 24,000| 17,000 | 17,000 199,000
. s (
) s s s
P S 1988.10. 1
$ 25,000
$ 45,000 20,000
28,000 $ 45,000
26,000

$ 99,000 $ 110,009
5,000
100,000 39,000
154,000
$199,000 $199,000
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)7

2.

+$70+ $70):
S
S

1989 12 25

1988 10 1 1989 9

o

. ) $ 480¢(
$30

. $ 70,

, $176.,

$ 7,000,

$1.500,

1989 8 1 . 1988
31 H

$ 1,440, s ( )

7$40 3

$5,600(%$ 7,000X80%)
$ 5,600
$5,600

. 1440
, G5

$ 1,580
$ 1,580

$176
$176

$ 524,700
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( ) $ 36,400

S 4,020
$ 386,000

36,400

55,723

26,897

17,900

42,100

$ 42,100
$42,100

(a)
( ) $1,540
( ) 40
( ) ( ) 1,460
1,584
S ( ) $4,624

(h)
( ) $ 15,000
( ) ( ) 2,000
( ) ( ) 4,020
( ) ( ) $ 16,420
( ) ( ) 1,500
3,100
() $1.400
$ 1,400
. P
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( )
$1,440 | $1,400 —
100
1,600 10 $1,460
1,760 176 * % 1,854
$4,800 | $1,756 $ 3,044
* % N
(80%) (20%)
$ 15,000 $ 12,000 $ 3,000 $ 15,000
2,000 1,600 400 2,000
$17,000 $ 13,600 $ 3,400 $17,000
x 4020 — 4020
(1,200) (300) (1,500)
$ 16,420 $ 3,100 $19,520
— % x 1,400 1,400
$ 16,420 $4,500 | x = $26,920
* $5600(%7,000X80%)— $1.580=%14,
020
% % $1,400= $7,000X20%
® % % : $20,920 $15,000=$5,920+
$1,580= $ 7,500
s “ ” ) (e . . d (e (a)
O . .
) ( ) $ 36,400
$ 36,400
(e) P ( ) $1,200
S ( ) $1,200
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P S
(1988.10.1~1989.9.31)
P S

524,700 108,900 633,600

36,400 — (a)36,400 —

S 1,020 — (b) 4,020 —
565,120 108,900 10,420 633,600
386,100 79,000 (a)1,540 466,640

36,400 — (a)36,400 —
55,723 12,900 () 40 68.663
26.897 7,000 33,897
17,900 3,000 20,900
— - (c)1,400 1,400
523,020 101,900 2,980 36,400 591,500
42,100 7,000 43,400 36,400 42,100
(1988.10. 1) 37,000 2,000 (b)2.000 37,000
79,100 9,000 45,400 36,400 79,100
9,500 1,500 (b)1.500 9,500
1989. 9. 31 69,600 7,500 45,400 37,900 69,000
11.756 7,400 19,156
( ) 17,660 6,200 23,860

3 1.200 B (e)1,200 B
78,940 8,600 (@)1, 624 } 87,540

21,044 — (b)16,420 -
( ) 84,600 8,800 (a)1,460 94,860
— — (a)1,584 1,584
215,200 31,000 3,044 22,244 227,000
«C 15,600 7,300 22,900

P — 1,200 (e)1,200 —
30,000 — 30,000

(b)3,100

B B 11100 | 4,500
100,000 15,000 (b)15,000 100,000
( ) 69,600 7,500 45,400 37,900 69,600
215,200 31,000 61,600 42,400 227,000
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P S 1989. 9. 31
$ 22,900
$19,156 30,000
( ) 23,860 $ 52,900
87,540 4,500
$ 130,556
( ) 94,860 $ 100,000
69,600
1,584 169,600
$ 227,000 $ 227,000
. 12),
)
(Exchange Gain or Loss),
C 2.127] P 1986 6 1 (S ), 100%
P .S
1.1986. 6. 1¢ ) $ 0. 303
2.1988.12. 31¢ ) $0.24;
3.1988 (1988.1.1 12 31 $0.25;



(LG $)
1.G80,000 $ 0. 24¢( ) $19,200
( ) 190,000 0. 24( ) 45,600
1988.12. 31 210,000 0. 25¢( ) 52,500
( ) 1,138,000 0. 30( ) 354,900
( ) 1.G320,0000 0. 24( ) $ 76,800
1,000,000 0. 30( ) 300,000
1988. 1.1 156,500 42,200
( ) 1,800,000 0. 25( ) 450,000
1,370,000 0. 25¢( ) 342,500
142,400 0. 25¢ ) 35,600
42,600 0. 30¢( ) 12,780
18,500 0. 24( ) 4,440
( ) 40,000 10,400
LG LG $ 869,000
3,276,500 3,276,500 $ 877,920 8,920
$877.920 $877.920
4.P 1988.12. 25 S 1988 ; $0. 26,
$10,400,
$8,920 P
(a) ( )( ) $ 300,000
( ) ( )
S ( ) ( ) 63,600
S ( ) $ 395,400
( ) ( ) 10,400
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P S
)1988 (1988.1.1—1988.12. 31)
P S
5,400,000 450,000 5,850,000
63,600 — (a)63,600 —
8,920 8,920
5,463,600 458,920 63,600 5,858,920
4,110,000 342,500 4,452,500
519,380 35,600 554,980
130,200 12,780 142,980
21,720 4,440 26,160
4,781,300 395,320 5,176,620
682,300 63,600 63,600 602,300
1988. 1.1 _
571,200 42,200 (a)42,200 571,200
1,253,500 105,800 105,800 1,253,500
30,000 10,400 30,000
(¢)10,400
1,223,500 95,400 105,800 1,223,500
1988. 12. 31 10,400
337,100 19,200 356,300
; 370,000 45,600 415,600
830,000 52,500 882,500
395,400 — _
(a)395,400
) ; 3,551,000 354,900 3,905,900
5,483,500 472,200 5,560,300
395,400
260,000 76,800 336,800
4,000,000 300,000 (a)300000 4,000,000
10,400
1,223,500 95,400 105,800 1,223,500
( ) 10,400
5,483,500 472,200 405,800 5,560,300
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XXX
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KX X
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KX X
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C

( )
( )
(1.
2.128) ,NORWAY
NORWAY )
$ 12,000 $ 60,000
140,000 15,000
40,000 180,000
200,000 300,000
190,000 27,000
$ 582,000 $ 582,000

XXX
XXX

KX X
XXX

XXX
X X X

XXX
XXX

KX X
X X X

XXX
XXX

X X X
KX X

XXX
XXX
X XX
KX X
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: $139,000; : $ 38,200, $ 195,000,
$187,000; . $10,000,
@))
$420,200(= $ 38,200+ $ 187,000+ $ 195,000)
9,800
(= $200,000+ $ 190,000+ $ 40.000— $ 420.,200)
$ 40,000
190,000
200,000
(2
$193,300
700(= $140,000— $ 139,300)
: $ 140,000
(3) : s ) ) :
(@) $ 180,000
: $180,000
(GO $ 15,000
$15,000
© $10,000
: $10.000
(d $ 60,000
: $ 60,000
) ,
(a) $10,000
: $10.000
(GO $ 20,500
$ 20,500
(5)
$ 300,000
6,500
$ 306,500
, : $ 37,000, $ 160,000, $ 150,000,
(1
$ 347,000
83,000
$ 40,000
$ 200,000
$190,000
(2
(3
(4) ,
(a) $10,000

$ 10,000
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(h) $ 93,700
$ 93,700
5
$ 300,000
$ 66,700
233,300
(5) . ., NORWAY $ 100,000 $ 200,
000,
(a) $100,000
: $100,000
(b $ 200,000
$ 66,700
133,300
C 2. 129INORWAY :
NORWAY (
$ 130,000 $ 220,000
250,000 380,000
320,000 600,000
2,000,000 3,000,000
6,000,000 $4,200,000
S
500,000 e
$8,700,000 $ 8,700,000

s

o

$ 1,200,000,

@D . $ 1,000,000,

(2) $100,000;

(3 $ 100,000 ;

D $5,000,000 $4,600,000, $50
(5 6% $ 3,000,000, 30,000 $ 100,
(6) $ 120,000 , ;

(7 1/2,

[@D)

)

$ 100

$ 1,200,000
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$ 1,000,000

200,000

2 $100,000
$100,000

$100,000

$ 100,000

3) $100,000
: $100,000

@ ( $ 100 ) $ 5,000,000
$ 400,000

( $ 50 ) 4,600,000

Gy $ 3,000,000
: —6% $ 3,000,000

6) $120,000
: $120,000

AR $50.000
190,000

300,000

$ 540,000

NORWAY ( )

$ 690,000 $ 50,000

130,000 190,000

320,000 300,000
1,000,000 $ 540,000

6,000,000 —6Y

$100,
$ 3,000,000

$ 50, 7,600,000
$ 4,600,000

$ 8,140,000 $ 8,140,000

(2):
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y=bx, b WX B
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(bx)

(b)

(a)

a/x.

(a/x)
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s s “ 7, 50,000
1000,000 50,000 s 0
“ ”’ 3. 12

3.13,
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Vo as, b, X

y=a+bx

3. 14

y=a-+bx

bx
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y=a-+bx

s

500 s
Y=1000+2. 4x
2.

1,000

» X sa
s .15
3.
A
0
x=500 2200

3.16:

’
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3.16
y3
y2 —0
vl ——0
0 x1 x1
Y1 0<X<X1
oy Y2 X1<X<X2
: {YS X2<<X<X3
500 5000
« D)
5,000 500
5.001—10,000 1,000
10,001 — 15,000 1,500

.17
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3.17
0
4.
(1) ’ ’ 3 ’
s > s s 3. 18(1)
(2 , , ( )
3.18(2)
3 . , ,
’ ’ ’ 3.18(3)
3.18(1)(2)
A A
Al
L
0 0
(O 2
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3.18(3)
1
0 3
(G ( ) N N
, ( ) .
C 3.1] A 18000 6000
400 0.12 10,000 10
. (A 2 D,
: 1.
= /
=10,000/2
=5000C )
2. 5000 ( Y, XD
Y= X +
=0.12X2X-+400
=4004-0. 24X
3. 5000
Y =400+0. 24 X500040. 12X 10X (X—500) X2
=—10400+2. 4X
_[400+0. 24X 0<<X <5000

© 1 —104004-0. 24X X==5000

s ’ o
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1800
1600
1400
1200
1000
800
600
400
200

=0.1X100+1.5X180=280

=28X26=7280
=0.15X180=27
Y =7280+27X
( )
(AX ) ,
, y=a-+bx

( )
0.1
100
C AY ),
b7



252

U Ay=b. Ax
NERIVAN
..bfAX
b ( H ) ( L ) , a
a=y(H)—b.x(H)
;a=y(L)—b.x(L)
C 3.3) 12
[ “ )
( ) 75,000 50,000
D) 176,250 142,500
. . 75,000
75,000
60,000
41,250
176,250
.1, (5000 )
_bx 75,000
b*}(*75&0071 /
b
(bx)=1X50,000=50,000
(a)=60,000 ( )
= —( + )
=142,500— (50,000+60,000)
=32,500
2. .
O ) 4 ) AN\
( ) 75,000 50,000 25,000
« 41,250 32,500 8,750
_Ay_ 8,750 _ ..
= Ax 25,000 3%/
b ;a=y(H)—bX (H)=41250— (0. 35X 75000) =15000( )
b ;a=y(L)—bX (1.)=232500— (0. 35X 50,000)=15,000( )

:y=15000-+0. 35x,

s

s
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2.
C 3.4]
( ( ) ( )
1 120 90 7 70 72
2 130 91 8 80 78
3 115 84 9 95 75
4 105 87 10 111 89
5 90 82 11 125 95
6 79 73 12 140 93
)
® ,
a=50,000
( )
90 t
80 f
70 t
60 r
50 f
40 ¢
30 f
20 1
10 ¢

L L L

L L

: ( )

10 20 30 40 50 60 70 80 90 100110120130140

x=100,000

’

y 81,000 , b=
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81000— 50000

b=""000000 31 /
6 y=50,000-0. 31x,
3.

y=a-+bx
Zy:na-Fbe

ny=aZX+b2x2

My b
a=—
n

\[bn- Exy—zx- Zy
B ne szJr(Zx)z
20X 2y 2 2%y
La—
’ n ‘XZ—(ZX)Z

’

C 3.5] s
( ) (G
1 2000 145 290000
2 4000 110 440000
3 7000 95 665000
4 3000 121. 67 365000
5 5000 103 515000
6 6000 98. 33 590000
( )x ( )y xy (10%) x*(10%)
1 2 290 580 4
2 4 440 1760 16
3 7 665 4655 49
4 3 365 1095 9
5 5 515 2575 25
6 6 590 3540 36
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EX:27

Zy:2865

Z xy=14205

Ex2:139

)

b

n

6

20— 2% 20 6% 14205—27 X 2865
nz)xZ—(Z]x)Z

23y —b XIxX2865000— 75X 27000

6X139—27*

=140000C )

:y=140000+75x%,

)
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= X —( X + )
s . 5
4, .
C 3.6 s 10,000 5
5000 9 .
= X —( X + )
=9 X 5000— (5X5000410000)
=10000C )
2.
(L
= - +
6000 10000 ?
10000410000
N 6000 TS
=8.4C / )
(2)
_ +
12000
_ 10000412000
9—5
=5500( )
(3)
_ - +
C 3. 6 10000 s
_ o 10000410000 .
=9 =000 =9—4=5C / )
(4)
= hd — X —
C 3.6 10000

=9X50000—5X5000—10000
=45000—25000—10000
=10000C )
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— X
= X (1— )
=( X — X — )X (1— )
_ + /(11— )
C 3. 8) . 33%
17%. 600 s ? 5000

=[100X600— (600+7-+3) X 600— (100004100041500)3 X (1—33%)
=[60000—42000— 12500 X (1—33%)

=5500X67%

=3685( )

_ (10000+1000+1500)4+5000/(1—33%)
100— (60+7+3)

_ 125004-5000/(1—33%)

100—70
=666C )
4.
’ o .
“ ”
’ b
. )
“ ”
C 3.9] NN s 100 ,300 ,500
1:3:5, 1 .3 5 1 R

» 100
=(100,300,500) =100

:100+-100=1

:300+-100=3
:500+100=5

800 3.19 s

5 3 100
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2 300

1 500

=(100,300,500) =100

_ 100,800,500 .,
100 100 100

=5X1+4X3+3X5

=32C )
=1X3+3X2+5X1
=14C )

ol

— X —

=32X100—14X100—800
=1000C )

(Margin Contribution) ,

=9X600—3X600=3600C )
=3600—1.5X600=2700C )
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+ =1
C 3110 ) 6 2
600 .

=6%2><100%:67%

:Lé_leoo%

=50%

_2 0

=5 X100%

=33%

=%1><100%
=50%

+

50%+50%=1
3.
= X —

) 1000
= (6—2—1)X600—1000
=800C )

_ +
_ +
= X

C 3.12) A.B.C s 2000 3. 20 ’
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3. 20
A 11 9 2 100
B 9 7 2 300
C 7 5 2 500
(100,300,500)=100
_ 100,300,500 . . .,
=700 100 100 1P370
=11X1+9X3+7X5=73C )
=9X1+7X3+5X5=55( )
=2X14+2X3+2X5+18C )
=73—55=18( )
=18X100—2000=—200( )
4.
= X100%
= X
— >< J—
_ +
= T X 100%
— >< J—
g X 100%
3. 20 . :
_ 2X100+42X300+2X500 o, 1800 o .
11><1oo+9><3oo+7><500><1004*7300“00%*24' 66%

C 3. 6] 3. 21,
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(O s ( Do
. (2 . 0,B
. (3) XD, (M), (X, M) O,"
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3.22
S
45000
36000
)
27000
v
18000
P
F
9000
1 1
9000 18000 27000 36000 45000
(
, 3.25,
3.2
(G
) ( ( ) C |«
Al 20000 50 100 20 30 60
A2 10000 50 50 30 20 20
A3 10000 50 50 40 10 10
200 90 50
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3. 26

45000

36000

3.23
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(1000 X10 / 10000

(1000 X6 / 6000
2000 8000
( ) 1000
1000
1. , .
, 7,
=1000X10—1000X 7— (2000+1000)
=0C )
1, 1000C ),
2. . , .
@® , . 6 5.75
=1000X10—1000X 5. 75— (2000-+1000) =1250C )
250 250,
®) , 10%,
=1000X (14+10%) X 10—1000(1410%) X 6— (20004 1000)
=1400C )
400 400
® . 10 11.25 )
=1000X11.25—1000X 6— (2000+1000)
=2250C )
3. , , .
) 4%, 1%,
o , : 5%, 10%.@ 20% , 500

o

=1000X [10—6X (1+4%)I—(20004+1000) X (1+1%)

=730C )

®

=1000X (1—10%) X (10X (145%)—6X (1+4%)>I1—(2000+1000) (14+10%)
=804C )

®
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=1000X (1+20%) X (10— 6 X (1+4%)1—[(200041000) X (1-+1%)+500]

=982( )
@ .

50% ,
@®
, 1500
1500=1000X 10— 1000 X 6—

=1000X10—1000X6—1500=2500(

_3000—2500

0
3000 X100%
=16.7%
@
.1500=1000% 10— 1000 X —3000
~1000X10—3000—1500
= 1000 =5.50C )
=67f2‘50><1oo%=8.3%
®
1500=1000 X —1000 X 6— 3000
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= 1000 =10.50C )
ZMXIOO%Zs%
10
@
. :1500= X 10—
150043000
=0T =125 )
~ 1125—1000 " ,
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2.
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&)

®

s

X 6—3000
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100000

P=100000X (2—1.20)—40000=40000C )
1.

’ ’

dj:100000X (dj—1. 20) —40000=0

. 20

dj=1.60C )dj =#x1oo%=zo%
, 3.31 .
2.
de : 100000 X (2—dc) —40000=0
de=1. 60de — 1607120 4 50p — 3304
1. 20
, . 3.32 .
3.
FC.
100000X (2—1.20) —FC=0 FC=80000( )
~80000— 40000 Vo
FC = 0000 X 100%=100%. 3.33
k2.0 3. 31
1.6 p
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1 ] ] \
0 0.4 0.8 1.2 1.6 2.0
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40000
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1. = —
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2. = —
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o

4. 14JNORWAY

()]
(L) (

©

(D

(0))

P)

(Ks)
(Kd
)

)

(kmce)

4.9

[}

$2000,000
$1.080

$ 300,000
(SYD)
$10,000
10

$ 200,000
10%

20%

6%

50%

<=

<=
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v
«
LoD
¢

10

,GO =§ ZOOOOO/Z ;Jr $ 10,000

t=1 (1+O OG)l
= $37174
A, 4.13
10
$ 200,000+ $1,080=$ 37174 X 2 #
t=1 (1+1)
10
L5 4006
= A+t

i=13.076%
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i
13.076% X (1—50%)=6.538%
B.
N
- 1
C’I“J+L‘X§ a+o

9
$200,000= $ 20,000+ $ 30,000 X ZO: O

9

| -
GRS I
i=11.2%

i

11. 2% X (1—50%)=5.6%

NORWAY

’

50%

1

50%

(

4.140)
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(
D;. DD T

s

T.,
D, =D
D. =D
D, =D,
I'=1—IT.=11—To

b}

< . ",
K.
, Tec s

N

Ln=2 I(lch)+ L

=1 (A+KD' T A+KOY

J?
Ln=L(1—H)+]

Ln

)
(
D:.De.Dy. 1,
. L

(

(

4.15)

4.16)

4.17)
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N

NV IA-To L
La H)H*Z (HKD' | Q+KOY ¢

4.18 K.,

_1a=To__1d—=To

K= “La—m+J (
C 4.15) L=2,000,000 , 1=1(2,000,000 X8%=)160,000
N=10 , H=20%,
]=200,000 , T.=50%
A, 4.18,

10
z 16o,ooo><(1—50%>+2,ooo,ooo

,000,000(1—207Y 000,000=
2 A—20%)+2 — A1K,) E L

B. 4.19,
- 160,000X (1—50%) - .
K“f2,000,000(1—20%)+200,ooo*4' 4%
KL . Pl’l )
, M, N, Te,
N
NV Ia-To M
P“*; Q1K) TR (
P, F,
D, :
P.=PO—F)=WM—-—D)(1—F) (

N

P(liF):(M*D)(l—F):zI(liTr)+ M

G ES RN EE (
4.22 Ki,
(_la=To_ 1a-T) (
PO F) T (M—D)Y(1—F)
1' ? ’ ’

X (11— )
.I(l_Tc)

s

4.18)

4.19)

4.20)

4.21)

4.22)

4.23)
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3. N—oo

N
pa DNA=TH M

— (+K)' " Q+K)ON
,  n—oo
N IA-TO M
P“*%’+<1+KL>‘+<1+KI,)‘~“
M M
L P — . %(X) s | 1 N ’
EN SR N ES O
CNCIA-TO
P“‘Z(HKIJ‘
1
P, 1(1—T.. TR (1+K)
1
Pn:LKleu—TC)—J
=17k,
c 1A=To _10-To_ 1a-To)
P, PA-F) (M—D)A—bF)
4. s
. , P)
O-M)
C 4.16] M=1,000 s
N=20 s P=997.50 ,
F=0
A, 4.22,
20
- 90(1—50%) 1,000
99750 24 SR TR
K.=4.54%
B. 4.23,
901—50%) . .,
Ki=""gg7.50 5%
KC ’
D.. g
NN DE N D A4 D,
P“*Z“(HKC)"Z (+K)"  K.—g

(M) P,
. M—D)

1=(1,000X9%=)>90 ,
T.=50%,

P., t

( 4.20)
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_D
chP*nJrg
PV
Dn=P(1—F)
J— DI
KC_Pi(lfF)ng
1.
2 I)t g [}
3 4.24 ,
4.24 ,
C 4.17) P=12.00
g=5.5%,
4.27,
_0.75 V11 e
ch12_00+5.54711.754
)
N P'
Dt n
pra F)_Z: 1Ky Tk
:P .’
P, n o
. ( 4.28) .
s s Dt N
)
. 4.28
N P'
D n
PxQ F)*Z’ 1Ky T a+KD"
D
Re=pa—m
C 4.18) 50
4. 30,
5 -
K. 10.5%

TR0X(1—5%)
()

Ke(

( 4.25)
F?
( 4.26)
( 4.27)
CX)O 9
D1=0.75 ,
F=0,
( 4.28)
Dt Pn’
( 4.29)
( 4.30)
5 o
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)
. K.
K. Bo/P ( 4.31)
K.
K.
P,
P
C 4.19) 15%, 100
20% , 120
4.31
o 15% oo =0
K"_1oox(1—20%)/120_22‘m
(G
N P’
D o
P F)7;(1+Kp)‘+(l+KP)“ ( 4.32)
.P
F
D
K,
P, n n o
4.28 .
Dt t s Dt o
)
( 4-32) : n%ms
D
Kpfm ( 4.33)
C 4. 207 P=76.25 D=7.00 .
F=0.
1. 33,
_7.00 ,
KP_76.25_9‘1£%
) o o
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).
kr Jke! Jke” ,Ti
K.=K., =K.,/ (Q—Ti) (
Kr Jke! LK’ s
Pl’l’, t Dt, g
.NY D NYD A4 D,
P"igf (A+Ken' = (A+ke)  ke'—g ¢
. D
kc—PiynJrg (
I:’
Pn'=P(1—F) (
. D
ke =pq—m) ¢ ¢
4.38 4.34
Kr=(o 2 4 e301-T) (
TP —F) T8
C 4.217 P=12 . D,=0.75 .
g=5.5%, F=0. T=25%.
4.39,
kr= (o075 5 50X 75% =8. 81%
12X (1—o0) 227 R
’ b <
1.10
1T
N1 -T
N HH)*; Q1Ko T AR
Ia-T
K=ra=—m+J ¢ )
N
NV IA—TY M
PA-F)= 2 SES O IEGERB)
K. 1a-1.) M—D)=P) ( )

TM—D)(1—-F)

4.34)

4.35)

4.36)

4.37)

4.38)

4.39)

4.10)
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N
N Dt P,
P“*FF%’ S SINGES Y

D
K=pa—m )
D P,
t n
P(l_F)’E 1K) (TR~
D
K=pa—m )
D,
K=pa—m "# )
K
Re=p/p )

_ D, -
Krf[m‘hg](l T

s o (
(G
o ) Ln
H?
L,=L—LH+J=LUO—H)+]
C 4.22) L=2,000,000
H=20%, 1=200,000
4. 40, :
L, =L—H)+]J=2,000,000X (1—20%)+200,000
=1,800,000C )
)
Pnl. . M9

o

(

4.40)
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F, N,
P.. 24=((P—PF)N=P(1—F)N ( 4.41)
C 4.23) P=997.50
F=0, N=13,000
4.41, :P,,[,Z=P(1—F)N=997.5ox3,ooo=2,992,5oo( )
QD)
o ] Pnr’
> : P,
F, N,
Pn,,Z:(P—PF)N:P(l—F)N ( 4.42)
C 4. 24 P=76.25 .
F=o0, N=20,000,
4. 42,
Pn,,L:P(l—F)N:%.25><20,000:1,525,000( )
QD)
o b Pn(‘z
. P,
F. N,
Pm.z:(P:PF)N:P(l—mN ( 4.43)
C 4. 257 P=12.000
F=0, N=500,000,
4. 43,
P,,CZ=P(1*F)N=12.OO><500,OOO=6,OOO,OOO( )
G
o Rn 2
RV
R.=R ( 4.44)
C 4. 26 R=5,000,000
4. 44, :R,=R=5,000,000( )
. . C ,
C=L,+P, 2 +P, 2 +P. 2 +R, C 4.45)
C 1.27] :L,=1.800,000, P, :2,992,500,P,,p2:1,525,ooo,Pm.2:

6,000,000,R,=5,000,000,
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4.45, :

G :L,,JrP,.LZ + Py Z +Phe 2 +Ra

=1,800,000+2,992,500+1,525,000+6,000,000+5,000,000
=17,317,500C )

o ) W
.’ PuZ? (:7
P,
W= (z ( 4. 46)
C 4. 28] 4.27, .
1. 46,
L. 1,800,000 _
W“*C*17,317,500”104
. Pu 2,992,500
= == ? ~179
Wi C 17,317,500 17%
P>, 1,525,000
= == ’ ~89
W, C 17,317,500 8%
P..
_Pu 2, 6000,000 .,
We=—¢C *17,317,500“354
_R,_ 5,000,000 .,
W= 17,317,500 =30/
. ki ky ke ke ki N . .
Wo. W, . W. . W, W,/ ,Kw
K,=W.K.+W.K. +W,K,+W.K.+W.K, ( 4. 47)
C 4.297  4.11 NORWAY 1989 10 28 ,
NORWAY . NORWAY

4.11 NORWAY
1989. 10. 28

9,000,000 3,000,000



416 . .

11,000,00 (10 .890) 2,000,000
( 1000 ,
20 ,9%) 3,000,000
8,000,000
( 100 73] 2,000,000
( 10 ) 5,000,000
5,000,000
20,000,000 20,000,000
1. 00
12. 00
0.75
5.5%
7. 00
76. 25
997. 50
50%
20%
200,000
1.
4.19, 4.11 . ,L.=2,000,000,N=10,H=20% ,]=200,000 ,T.=50%.
K, — IA—=T) _ 2,000,000X8X (1—50%)
L(1—H)+]  2,000,000X (1—20%) -+ 200,000
=4.44%
( 4.15)
2.
4. 23, 4.11 . :Te=50%,.F=0,M=1000 ,P=9975 .,1=1000X9% =90
o
_ 00
( 4.16)
3.

4.33, 4.11 s :D=7.00 ,P=76.25 ,F=0,
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D 7.00

— — —09.18¢
K=pa—m 76 3xa—0 184
4. 20)
1,27, L, P=12.00 DI=0.75 .g=5.5%.F=0
D 075 I
K=pa— TP 1200 oy 00T TN
4.17.2.18.2.19)
439, 411 . P=12.00 .D,=0.75 .g=5.5%.F=0,
- D, -
K = (g e 4T
B 0. 75 ) o
7[712-00><(170)+0'5]><(1 25%)
=8.81%
4. 21)
)
4. 40, L L=2,000,000,H=20% ,J=200,000,

L., =LAO—H)+J=2,000,000X (1—20%)-+2000,000
=1,800,000C )
4.22)

4.41, 4. 11 s ,P=997.50 ,F=0,N=3,000,

:P,,LZ:PU*F)N:%% 50X3,000

=2,992,500C )
4.23)

4.42, 4.11 s ,P=76.25 ,F=0,N=20,000,

:PnPZZP(l*F)N:%. 25X20,000

=1,525,000C )
4.24)

4.43, 4. 11 s ,P=12.00 ,F=0,N=500,000,

:PHCZ:P(lfF)N =12.00X500,000

=6,000,000C )
4. 25)

4. 44, 4.11 s ,R=5,000,000 .

:R,=R=5000,000
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000

=38

( 4.26)

4.45, . s

2\ \ Al
L,=1,800,000 ,PHI‘Z:2,992,500 ,P.,,,L:1,525,ooo ,PMZJ:6,ooo,ooo

(C =L+ Pu 24+ Py 24 1P D0 IR,
—1,800,00042,992,500+1,525,00046,000,00045,000,000
=17,317,500C )

( 4.27)
)

4. 46, C HC )
1.

L. 1,800,000
WI-*C*17,317,500”104
2.

C Pu>l 2,992,500

_ s ’ ~ 0
Wi === =17,317.500 17/
3.

Pup 1,525,000

L 1 ’ ~ 80
Wi C 17,317,500 8%
4.

P

P2, 6,000,000 .,
We=—C= =17.317.500 =2/
5.

_ R, 5,000,000 .,
W‘*C*17,317,5oo“304
( 4.28)

4.47,
Ky =W, K.+ W.K, +WpKp+WcKe+W.K,

=4.44% X10% +4.54% X17% +9. 18% X 8% +11. 75% X 35% +8.81% X 30%

=8.6947%
,NORWAY 1989 10 28
L6947 %,

s ( 4.12),

7Rn:570007

Kw
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4.12
3=
(4)= (1) X(3)
M 2) 2+ 20 @)
4.44% 1,800,000 10% 0.444%
4.54% 2,992,500 17% 0.7718%
9.18% 1,525,000 8% 0.7344%
11.75% 6,000,000 35% 1.1125%
8.87% 5,000,000 30% 2. 643%
17,317,500 8.6947%
© K.)
K=i+0 (
:K
i
0
, ( i) ( 0 o
( N
)7
4.48
Kj» =i+R; (
Is ) .
Kj =
i ( )
RJ:
R;
Ri=(E.—DB (

En

4.48)

4.49)

4.50)
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B
, 4.50 L (En—1)
4.49 4.50
K * =i(E,—Df
B

e
Bi=pimx -

pjm

Bi

9]
om

=EM—1

pjm
cj
om
152 2
om
. pjm
( )
K % =i+ (E —i)><pjm><‘°—j
j m om
Kj
i
Em 1

.+ ojm,oj,pm

(

Bi

3 pjm

Kj

(

(

(

4.51)

4.52)

Bi

4.53)
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1.
EBIT(
2.
EBIT s
3.
,EBIT
(G
~ AEBIT/EBIT
DOL= —AS/S
:DOL
AEBIT
EBIT

AS

o

EBIT

EBIT

o

DOL),

EBIT

(

4.54)
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S
/AEBIT/EBIT
A\S/S
C 4. 30JNORWAY . 10%
4.13,  4.14 1. 15,
4.54, 4.13.  4.14 4.15
_ AEBIT/EBIT
DOL = AS/S
(15,700—12,000)
. 12,000 s
~ (110,000—100,000) "
100,000
4.13 NORWAY
100,000
70,000
10,000
5,000
3,000
88,000
EBIT 12,000
4.14 NORWAY
( ;0. 60/ ) 60,000 10,000
( :0.03/ ) 3,000 7,000
5,000
3,000
63,000 25,000
0. 63
4.15 NORWAY 10%
110,000
(110,000 0. 60-+10,000) 76,000
(110,000 X 0. 03-+7,000) 10,300
5,000
3,000 94,300
EPIT 15,700
4.13 4.14 4.15 4.54
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r ) »V
rS, S+rS), rv,
(S—=V—F),
4. 54
po1 —£EBL BB
_ AEBIT/EBIT
rS/S
_ AEBIT/EBIT _ AEBIT
r EBIT - r
_ S+ rSH—(V+rVHI—FI—-(S—-V—-F)
EBIT « r
_ rS—rV _ (S—V)r
EBIT+r EBIT o r
_S5—V
EBIT
DOL=325
, 4. 30
4.55, 4.13 4.14
DOL— 100088000 5.
4.30 1%, EBIT
—1%=)2.1%
C
1. “ »
. DOL=3.1%,
1% LEBIT 3.1%, 2.1% .
2. 4.55,
) 3 ,» (8§—V)
. , (
7, ,(S—V)
D) ( N
(2) ( ,
(3 . R
) (
3. s EBIT
(
) s EBIT .
, . 411
,AVC ,AFC

’F ’
(V+rV),
((SH+rSI—(V+rV)—F]

(1% %X3.1=)3.1%,

(')
) L (S—=V)
)
),
(
)
) 7 ;

,ATC

(

4.55)

(3.1%
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411 ). F. B .
411
C
ﬁrE ATC
+ AVC
1
1
]
]
Lo AFC
[ t [
0 vV B F Q&)
. EBIT . : . EBIT
EBIT .
EBIT : . EBIT .
( DFL).
)
 AEPS/EPS
DFL = BT /EBIT ¢ 456
.DFL
AEPS
EPS
AEPS
EPS
AEBIT
EBIT
4.56, : . (
n:
B X
<
WX AEPS  AEPS
= WXEPS ~ EDS
AEPS
"EPS
C 4.31JLS  GS 4. 16,

4.56
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_200%6

LS DFL—ZO%—LOO
GS DFL — 2;‘0“;% —1.364
4.16, ;LS GS ( 10,000,000
)N . EBIT ( 1,500,000 ),EBIT ( 20%),
:LS ,GS
LS EBIT ( DFL=1.00; GS
EBIT 20% , 27.3%. LS
7.3%, DFL=1.36,
,GS
. LS GS EBIT 20% , LS DFL=1. 00,
20% GS DFL = 1. 364, GS (20% X 1.364=)
27.3%, LS 7.3—— EBIT . ,DFL ,
. .GS .
4.16 LS GS
LS GS
( $10) 1,000,000 500,000
( 8%) $5,000,000
$10,000,000 $10,000,000
EBIT 1,500,000 1,500,000
400,000
( 40%) 600,000 440,000
900,000 660,000
0. 90 1.32
EBIT 20% 20%
EBIT 1,800,000 1,800,000
400,000
720,000 560,000
1,080,000 840,000
1,08 1.68
0,18 0. 36
20% 27.3%
1. 00 1. 346
(G
1.56 . ,
N
I ( )
L
d
T

:n X AEPS
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nxEPS
, EBIT ;
n X AEPS=AEBIT(1—T) ( 4.57)
, EBIT . . ,
nXEPS=(EBIT—1-L)(1—T)—d ( 4.58)
4.57 4.58 4.56
DEL — _AEPS/EPS
©~ AEBIT/EBIT
_ nXAEPS_ EBIT
~ nXEPS 7 AEBIT
_ AEBIT(1—T) EBIT
" (EBIT—-I-L)(1—T)—d" AEBIT
B EBIT
- d
EBIT—I—L—1—x
:DFL= EBIT 3 ( 4.59)
EBIT—I—L—1—x
4.31
4.59,
. _ 1,500,000 _
LS DFL=17500,000—0 1%
. _ 1,500,000 _
GS PFL=17560,000— 400,000 1" 38
( )’ o ’
(DOL) (DFL) ( DCL):

N __ AEBIT/EBIT AEPS/EPS
DCL=DOL XDFL = AS/S X AEBIT/EBIT

~ AEPS/EPS
- AS/S
.. AEPS/EPS
DCL==2g06— ( 4. 60)
DOL  DFL . .
DCL=D()L><DFL=§,§I\T]>< EBIT = S—V _
EBIT—1-L— g EBIT-I-L— "5
DCL = SV 1 ( 4.61)
EBIT—1—1—

1—T
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C 4.32] NORWAY

S=8000,000 V=4,500,000 LEBIT
EBIT=2.500,000 1=400,000 L=200,000 , d=500,
000 T=50%,
4. 61, :
DCL— 8,000,000— 4,500,000 =L
2,500,000—400,000—200,000—0.’750
,DCL=1.94 1%, a%
X1.94=)1.94% . 0.94%,
DCL  DOL  DFL ., DOL DFL 1, DCL (
) s o
C 4. 33INORWAY 4.17
4. 61 NORWAY
DCL= 2604,00700003 165,2000700300 =80.00
DOL=5.0
DFL=16.0
. , DOL DFL DCL . ( 1.17
): 1%, EPS 80% . . 1%, EPS
80% ! .
4.33 . .
4.17 NORWAY
1989 (1988.12. 31~1989.12. 31)
1% 1%
640,000 646,000 633,600
320,000 323,200 316,800
300,000 300,000 300,000
EBIT 20,000 23,200 16,800
16,000 16,000 12,000
4,000 7,200 800
(50%) 2,000 3,600 400
2,000 3,600 400
1 (1
EBIT 16 (16)
EPS 80

(80)
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( ), . s
3 , ,  EBIT s . s
(D]
C 4. 34JLS GS 4.18 .
4.18 LS , ;. GS ,
GS , .
(D]
C 4. 35JNORWAY 4.19 . NORWAY
. 4.12 .
Eeps OEPS .
1 1 1
E pps=2X—-+3X——+4X—=-=3.00( )
3 3 3
4.18 LS GS
LS GS
( $10) 100,000 50,000
( 6%) $ 500,000
$ 1,000,000 1,000,000
80,000 80,000
20,000 20,000
30,000

20,000 —10,000
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4.19 NORWAY
(Xi) (P (
( )
50%)
$ 4,000 1/3 $2.00 $1.50
$ 6,000 1/3 $3.00 $ 3. 50
$ 8,000 1/3 $ 4. 00 $5.50
o m:\/%<273>2+%<373>2+%<4—3>2
=0. 82( )
4.12
EPS
)
8
7
6
50
41
R
L USSR
20 |
1 |
[ 7 O O I |
0 1234 56789 10
A EBITC )
1 __ 1 1
E gps=1.5X—=—+4+3.5X —-+5.5X—=—=3.50¢( )
3 3 3
/1 ., 1 - o 1 2
[ EPS*\/?(I-5*3~5) +?(3.0*3.5) +?(0.5*3.5)
=1.63( )
E 1-3]’S<E EPS o }:1’s<6 EPS o
(G
C 4.36JLS  GS 80,000 .
. 10,000 , 50%
. GS . GS
E ) C 4.20) ,GS LS 0.10
0.10 ..., .
(—O. 407)20/0 .GS , LS
&30y,
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4.20 LS GS
LS GS
( $10) 100,000 50,000
$ 500,000
$ 1,000,000 1,000,000
80,000 80,000
30,000
(E) 80,000 50,000
( 50%) 40,000 25,000
( ) 40,000 25,000
40,000 25,000
100,000 - 10 50,000 000
(6) 40,000 40,000
. 40,000 40,000
(CVo 80,000_0'5 50,000_0‘8
0 (PO)
Y Dt
Po=P .y —
%’(lJrKL)‘ (
. t—oco LDt N ,
I)
PO*ITL (
. 4.63 D™,
(EEPS)
K. ( )
K.=i+0 (
6:61+62 (
:6
0,
0,
0
GO
0=LC—"7) (

4.62)

4.63)

4.64)
4.65)

4.66)
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Ogy .
o
d
r
der M@,
(o—dr)
6j')dr , cV, y ol der
P()ZL}SG ( 4.67)
. 0
X (g5
4.67 . . . .
. ( 4.13), : (
) @), D, B <
B V BV, V>R, L ).
4.13
IAE T A
AR #E% N,
Vl
B/ r
1
‘ ! It S5 4TA i
L | 1
v B L R SEALEY
. 4.13 . ( 4.14), 4.14
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4.14

T A
BRA A%

R HiAs |

AT R
FHFCA AR

fisr A

o

¢ DEBIT—EPS
EBIT—EPS

C 4. 37INORWAY
s, 4.22 EBIT

\
| ,
ETVET T REE E e

?
( )
?
EBIT (EPS) .
4.21, ,NORWAY

EPS ( Do
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£.21 NORWAY
AL 100 ( $50) $ 50,000,000 0 50%
B. 80 ( $50)
7 $ 50,000,000 | $10,000,000 50%
$10,000,000 8%
4.22 NORWAY EBIT EPS
EBIT EPS
A $ 2,000,000 $ 2,000,000 $ 1,000,000 $1.00
$ 4,000 000 $ 4,000,000 $ 2,000,000 $2.00
$ 8,000,000 $ 8,000,000 $ 4,000,000 $ 4. 00
B $ 2,000,000 $ 1,200,000 $ 600,000 $0.75
$ 4,000,000 $ 3,200,000 $1.,600,000 $2.00
$ 8,000,000 $ 7,200,000 $ 3,600,000 $4.50
4.21 4.22
EPS
( )
B
4. A
N R
|
0.75 [ ="~ i
| \ \ \ \ \ | \ \ EBIT
o 1 2z 3 4 5 6 7 8 9 10 ( . )
4
|
,400 EBIT L,EBIT s EPS EPS;EBIT
. EPS EPS,
EBIT—EPS . s
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: A
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4.29,
A
s B
4.25,
W17200,OOO,000740%
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1.24 A
( 10 . 5,000,000 )
1. 00
12. 00
0.75
5.5%
( 100 , 2,000,000, )
7.00
76. 25
( 1000 ,20 ,9%)
99. 7
50%
20%
200,000
4. 25 B
20,000,000
32%
10,000,000
8.2%
10,000,000
16.5%
10,000,000
16%
50,000,000
4.44% 10% 0. 444 %
1.54% 17% 0.7781%
9.81% 8% 0.7344%
11.75% 35% 4.1125%
8.81% 30% 2.643%

8.6947%
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10,000,000
"7 50,000,000

W(,*10’000’000:20%

=20%

"~ 50,000,000
_ 10,000,000 _,
" 50,000,000 20%
3.2% 10% 1.3%
8.2% 20% 1.6%
16.5% 20% 3.3%
16% 20% 3.2%
9.4%
B 9.4%,
( B ’ ’
’ ’ )o
, A.B .
7KA<KB
, A,
A . A
. EBIT —EPS
4. 38 . . ,
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. . 4. 38 . ,
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Kl'iipnl‘ ( 4.68)
KL
I
PaL
T
, I P . .
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K.
E
P
D
P
3.
_A_ I4E
Ke=v=p, +p. ¢
K.
A . (I+E)
\Y s (Pa+Puo)
4.70 :
K — I+E  K\P,./A—T) +K./P,
YU P AP P 4P
_ PnL Pnc
KX T o a1 KB, b, ¢
P, P,
’ PnI,+P|1(' ’Pnl,+PnC
C 4.39INORWAY $ 1,000,000, , 100,000
. EBIT  $ 250,000, 50%, NORWAY
¢ . — — $10.00
$ 100,000 6.0% $10. 00
$ 200,000 6.0% $10. 50
$ 300,000 6.5% $10. 75
$ 400,000 7.0% $11.00
$ 500,000 8.0% $10. 50
$ 600,000 10. 0% $9.50
EBIT $ 250,000
X (D
$250,000—1
(50%) $125,ooof%
. I
$125,ooo—7
EPS _ =

(n)

4.70)

4.7
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515115,000—7
(KC): (I’IP)
Ky= (55— Por )X +< o) XK
¥ P 4P ,,Her ¢
$100,000( 6%) ($1,000,000— $100,000=)
$ 900,000, $10. 00/ <w:>1o,ooo
$ 10
(100,000—10,000=)90,000
[€0)) (Poe) s
P..= X
=90,000X $10=900,000
@) (Ko
N 0
$125!00_l $1257000_M
K. = np - $ 900,000
=13.56%
(2)
P.. ><K—
P+ Py
__$100,000 _ 6%
*$1,ooo,ooo>< 2 =10%X3009=0.3%
(3)
P..
B p, K
—$900,000 o o .
——$1’OOO’OOO><13.564—904X13.56%—12.204A
(4)
P.
K
n1+Pm>< + nI+PmX ¢
=0.3%+12.204%=12.504%
P. K P.c
K. e e . K.
P.) (P,o) P..+P.c 2 P..+P.c X Ke
$100,000 | $900,000 | 13.56% 0.3 12.204% 12.504 %
$ 200,000 $ 840,000 | 14.17% 0.577% 11. 445% 12.022%
$300,000 | $752,000 | 15.32% 0.926% 10. 953 % 11.879%
$ 400,000 $ 660,060 | 16.82% 1.321% 10.473% 11.794%
$500,000 | $525,000 20% 1.951% 10. 240% 12.195%
$ 600,000 $ 380,000 25% 3.061% 9.694% 12.755%




440
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4. 407 A.B A.B
’ ’ 50%7
4.26 A B
A B
@D) $ 0. 20 $3.00
(2) $0.40 $ 6. 00
_ ,
(3)—(2) $0.5 0.5
_ (op)
Ep
9El)
‘Dl
:I)l t
n
4.417  4.27 A.B
B , LA 50%, B

2%

4.72)

4.73)
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4.27 A

A B
1 0.13 2. 90
2 0.08 2. 80
3 0. 04 2.90
4 0.15 3. 00
5 0. 20 3. 00
S
> 0. 60 14.6
=1
D
ED(Z l) 0.12 2.92
<
on 0. 06 0. 07
0.05 0.02
$1.00.%$2.00 $3.00,B $3.00.$2.00 $1.00,
N A , B
A B
(1) '“ ”
. (2):
1. ;
2. 5
3. ;
4. ;
5.
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3. . .
C 4. 42INORWAY 1000,000 $ 100,000,
, $1, $ 10, 10% ., NORWAY
$ 100,000, $ 10,000, NORWAY
A $1; 10,000 . $ 10, $ 100,000,
; $1(=$110,000/110,000), Py
D
Po:K*0
_ 1 &
—10%—‘&»10
B: 1 . $ 100,000 .
$1.10(= $110,000/100,000 ),
1. 10
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04 1 1. 10
1+10% =1 (14+10%)"
o 1. 10
0+1+1m/x1m/ $10
4. 42 : (
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p Kc); ) H
+
=( — X )+ X

I=(X—nXD;)+mXP,
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(93]
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(
4. 44INORWAY s
22%, 85%
20% 5 10%.
(22%)
NORWAY s

o

( 5.13%), 5 ,

(2]

( 8.27%), 5 s

(2]

=15,600+5,000= $ 20,600
=20,000X (1—40%)= $12,360
_ N 1
*12’36”; d+10%)
=12,360x3.791= $ 46,857

20,600X[140.0513X (1—22%) ]
=20,600X1.04

20,600 1. 04"
,20,600X 1. 04°
,20,600X 1. 04°
20,600 1. 04
.20,600X 1

4
=20,600X Z(1+4%)‘=20,600><5. 416=$ 111,57

t=0

=111,570X (1—20%)= $ 89,256

$ 25,000
5,000
20,000
4,400

$ 15,600

40% ,
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_89.256 _89.256_
S 109y L6l D o5-404

C:
=20,600X {1+0.0827X[1—22% X (1—85%)]}
=20,600%1.08
+20,600X 1. 08"
,20,600X 1. 08°
,20,600X 1. 08?
,20,600X 1. 08
20,600 1
4
:20,600><Z<1+8%)‘=20,600><5.867
t=0
= $120,860
=120,860X (1—20%)=$ 96,688
_ 96,68 96,688
“dF10%y 1611 26017
, C . C.
1.
2.
(
(G
1. . .
100 , 10% \5 .
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C 4. 45INORWAY 5 . 100 R 9%

; : .NORWAY :
: 9%, NORWAY . NORWAY
9% 8% .
( : : ).
[ 4.46]LRR 20 . 100 10% ;
, . LLRR : 20
10% , . LRR
: 11.5%.
445 2.46 . :
< + X X
1+ X
4. 45, s

100+100X5X9% 146 _ 00
1+8%><5 1.4
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,NORWAY 103 , (100 )3
4. 46, s
1oo+1oo><1o%><20=86( )
14+11.5% X 20
,LRR 86 s (100 )14 ,
C 4. 47JNORWAY 10 . 10%. 100
10%,
100+100X10% X 10
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,NORWAY 100 , (100 ),
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( ) . ) .
1. o)
F=P{+RRR)" ( 4.75)
:F t
P
RRR
, 4.75 L (1+RRR)' “ 7, (F/P,RRR.1), P
F. s :
F=P(F/P,RRR.,0) ( 4.76)
C 4. 48JL.RR NORWAY 1000 6% s 5
,  LRR 5

F =F(F/P,RRR,t)=1000(F/P,6%,5)
=1000(1+6%)°=1000(1. 3382)

=1338.2C )
2. (@]
P.RRR t F F.RRR t s | S
4.75
P=F(O+RRR)" ( 4.77)
s (1+RRRO™ “ 7, (P/F,RRR., 1), F P, >

4.77 :
P=F(P/F.RRR.0)

C 4.49) 5%, 5 1 ,NORWAY

P =F(P/F,5%,5)=1000(1+5%) °
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=1000(0. 78353) =7835. 3(
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P =AQ+RRR) "+ A,(1+RRR) *+eeeeee +A"(1+RRR)

=K2AK<1+RRR)*1‘
=1

P— > Ax(P/F,RRR.K)
K=1

F =P(1+RRR)'

:KZAK(H—RRR)H‘
—1

F= ZAK(F/P?RRth_k>
K=1

)
Ax=A( ) 1)
(G
0 K=
AK:{
Ax—1+H=(K—-DH K=2,3,00e t
:H
)
A, K=
nee | .
A (Q+h=A0+h)*! k=2,3,,n
:h
A,
.15
01 2 3eeeee n 12 3eeen n
Hw RAZ
A Al(1+h)
(n—DH Al(1+h)
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4.79
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1.

P:AKz:(l-ﬁ—RRR)fl
—1

P=Al ety L 11

(ITRRR) ~ (1 | RRR)? (IFRRR)Y ' (1 - RRR)
(1+RRR)
_ B 1 1 1
P=+RRR) =AU+ prr " T I RRRY 2 T G FRRR) -
(1)~ (1)
P:AD*;]
i (1T-RRR)"
o (I4+RRR) 1
P=AX RRR(1+RRR)
(1 4RRR) 1
(P/ARRR.0) = g el
,(P/A.RRR.0) “ A P,
¢ 4.50JNORWAY , 2
NORWAY 10 ,
B (1+RRR) — 1
P =AY RRR(I+RRR)
A4
*2[<o.1>(1+o.1)1”]
—12.289C )
2.
F=P(1RRR)'
_ L(1+RRR)'—1
F*AxfiRRR ]
(F/ARRRJ)Z%
.(F/A.RRR.1) “ A F,
C 4.51NORWAY 0, 5,
( 7%, NORWAY

F=AFE/A7%.5

0.07)°—
:2[<1+O‘O77> 1

=2(5.7507)=11. 5( )

k=1,2,--,1)
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Q)
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4.87)
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. P, A,
~ _RRR(1+RRR)!
AP RRRy — 1 ¢ &89
_ RRR(1+RRR)'
(A/P,RRR,1>——(1+RRR)t71 ( 4.90)
,(A/P,RRR,0) “ "(CRE), P A.CRE
. P) t (A),
. t
C 4.52INORWAY 1000 6%, , ,
A =P(A/P,6%,5)
_ (0.06)(14-0. 06)°
=1000L (140.06)°—1 ]
=1000€0. 2374) =237.4C )
4.
. . S, A,
RRR
A_F[<1+RRR>‘—1] ( 4.91)
. B RRR
<A/Ik,RRR,w—i(MRRR)_1 ( 4.92)
, (A/F,RRR,t) “ ”(SFF), F A,
. F( ),
C 4.53INROWAY 10 , 10 .
5% .NORWAY ( )
A =F(A/F,5%,10)
B 0.05
710[(1+0. 05)10-1]
=10(0. 07950) = 0. 795( )
5.
P:HKZ;(k—l)(lJrRRR)’K ¢ 4.93)
=1
p_H [ (1+RRR)'—1 t ]
RRR"RRR(1+RRR)" (1+RRR)'
H
=RRRLP/ARRR.O—t(P/F,RRR 0] ( 4. 94)
~1—(1+tRRR) (1+RRR) .
:PfH[ RRRZ ] ( 4~9J)
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p— ;Al(Hh)K’l(lJrRRR)"
=1

AL NY, 1dh
1T KZJ(HRRR)
(

1-AQ+h'A+RRR)

JAI[ RRR—h ] R
7\["7& o
1+RRR
o , 6 1.28.
4.28
. - (F/P.RRR 1) (1+RRR)'
; b (P/F,RRR,t) (1+RRR)
_QA+RRR)"
A P (P/A,RRR,t) (1+RRR)'—1
(1+RRR)'RRR
, A (A/P,RRR.,t) (1+RRR) —1
(1+RRR) —1
N - (F/ARR.t) " RRR
‘ - _ RRR
. A (A/F,RRR,t) (1+RRR) —1
4.28?
(G
S S
(F/P,RRR,t)f<p/F,RRR,t)
-
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. SR S
<A/I<,RRR,t)—(F/A,RRR,t>
(G

(F/A,RRR,t)=(P/A,RRR,t)(F/P,RRR,1)
(F/P,RRR,t)=(A/P,RRR,t) (F/A.RRR,1)
(P/F,RRR,t)=(A/F,RRR,t)(P/A,RRR,1)
(P/A.RRR.t)=(F/A.RRR,t)(P/F.RRR,1)
(A/P,RRR,t)=(F/P,RRR,t)(A/F,RRR,0)
(A/F.RRR,t)=(P/F,RRR,t) (A/P,RRR 1)

¢ JDCRF SFF

CRF=SFF+RRR

= + (RRR)
: (A/P,RRR,t)=(A/F,RRR,t) +RRR
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**CRF =

RRR (1-+RRR)"
(1+RRR)' —1

~ RRR(1+RRR)'—RRR-+RRR
o (1+RRR) —1
_ RRR[(14+RRR)'—1]+RRR
a (1+RRR)' —1

RRR
_RRR+(H—RRR)‘—1

S CRF=RRR-+SFF

( )e s s
)
><7 b
’ o :(
., 20% , $1,2000,000 ;5 50%
R $ 1,000,000 ;0 30% s $ 800,000
( XH (PH
Xi= $1,200,000 P,=0. 20
X,=1,000,000 ,=0.50
X,=2800,000 P,=0. 30
1. 0<<Pi<1
Z.EZF:J
—1
’ 0’ 19 O? 10 ’
1, 100% . 0, ; 1,
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% %
Xi Pi XiP;
X;=—10 P,=0.10 —1
X,=0 P,=0.15 0
X;=10 P;=0.25 2.5
X, =20 P,=0.40 8
X;=30 P;=0.10 3
1. 00 EX)=12.5
(D" ” s s
(2)*EX)” s
EXD,
E(X)ZZXaP;
i=1
EX)=—10X0.104+0X0.154+10X0.25+20X0.40+30X0.10
=—1+0+2.5+8+3=12.5
, 12.5%,
(G
P
0.40 —
0.30
0.20 |
0.10
— 10 0 10 20 30 X(%)
X3 X4 X5
12.5

EX)
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, . , “EX)” s
“‘LL” “X,,( “X” )o y R
(D]
s s “G”
C= A/ ZPi(X‘*}l)Z
i—1
Xi (%) MeZP) Xi—p (Xi—p)? P Pi(X;—p)?
Xi=—10 12.5 —22.5 506. 25 0.10 50. 625
X,=0 12.5 —12.5 156. 25 0.15 23. 4375
X;=10 12.5 —2.5 6. 25 0. 25 1.5625
X, =20 12.5 7.5 56.25 0. 40 22.5
X;=30 12.5 17.5 306. 25 0.10 30. 625
1. 00 128.75

o= +128.75=11.2(%)

, 11.2%.,
s 6=11.2% (12.5%) 11. 2%
o) ) 1.3%C 12.5%—11.2) 23.7%C 12.5%+11.2%)
68.46% ., s 1.3%  23.7% 68.46% .
c=11.2
P
0.40 — .
0.30 -
0.20 | :
0.10 .
L 3
—10 o§ 10 20 30 X%
— 0 i) 6
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o
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o _12.8 ..,
=10 =32%
P
0. 80F
0. 604
0. 40k
1 1
] ]
] ]
0. 20k | i
i i
1 ]
i 1
I T T R S
1020 130 spE 60 70 8D 90 XN
—a r a
| |
27.2 40 5.8
s B A
. B 12.8% A 4.5% .
A s B 32% A
15% .



466

A.B
X .
(>
( Do
0=Ix(-Z)
‘U.
.0
£ ( )
. A
A
A
GA:fA(Z—A):%xw%:% 5%
B

0y —fux (OB = L w520 —6.4%
vB 5

vo|—



. 467

)7
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s s 4. 96
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. 100 . 9 . 70 . 40
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5% .
B=100+90+70+40=300C )
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50 CPV =50%18. 2564050
—1923.8C )
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. PI=1 . , ., PI<1
C 4.55) 454,
CBPV 5477
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CPI=1.1>1
(NPV)
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1
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; IRR (
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IRR=12%
NPV =—5000+800% 5. 6502+ 2000 X 0. 3220
=164.2>0
IRR=13%
NPV = —5000+48000X 5. 42622000 X 0. 2946
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